
MATHS

BOOKS - TARGET MATHS (HINGLISH)

INTEGRATION

CLASSICAL THINKING

1. ∫7e7x+ 5dx=

A. 7 7e7x+ 5 + c

B. 
7 e7x+ 5

5
+ c

C. e7x+ 5 + c

D. 
7e7x+ 5

(7x + 5)
+ c

Answer: C

( )
( )

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E3KHSldomHJk


Watch Video Solution

2. ∫ ax - a2x dx =

A. 
ax+ 1

x + 1
-
a2x+ 1

2x + 1
+ c

B. -
ax+ 1

x + 1
+ c

C. 
1

loga
ax -

1
2
a2x + c

D. 
1

loga
ax - a2x + c

Answer: C

Watch Video Solution

( )

( )

( )
( )

3. ∫
2x + 3x

5x
dx =

A. xlog
2
5

+ xlog
3
5

+ c( ) ( )

https://dl.doubtnut.com/l/_E3KHSldomHJk
https://dl.doubtnut.com/l/_PiFAwfBcow55
https://dl.doubtnut.com/l/_iBmFo2rRuh2B


B. log
2
5

+ log
3
5

+ c

C. 

2

5

x

log
2
5

+

3

5

x

log
3
5

+ c

D. 
2
5

x
log

2
5 +

3
5

x
log

3
5 + c

Answer: C

Watch Video Solution

( ) ( )
( )

( )
( )

( )
( ) ( ) ( ) ( )

4. The value of ∫
1

(x - 5)2dx is

A. 
1

x - 5
+ c

B. -
1

x - 5
+ c

C. 
2

(x - 5)3 + c

D. -2(x - 5)3 + c

Answer: B

https://dl.doubtnut.com/l/_iBmFo2rRuh2B
https://dl.doubtnut.com/l/_P6X2BmlATXiC


Watch Video Solution

5. The value of ∫
dx

√1 - x
 is

A. 2√1 - x + c

B. -2√1 - x + c

C. - sin - 1√x + c

D. sin - 1√x + c

Answer: B

Watch Video Solution

6. If f(x) =
x2 - 1

x3 , then ∫ f(x)dx is

A. 
1

x2 +
1

2x3 + c

B. logx +
1

2x2 + c

https://dl.doubtnut.com/l/_P6X2BmlATXiC
https://dl.doubtnut.com/l/_Qsf1aajoU5PY
https://dl.doubtnut.com/l/_XtblFN2kuBgg


C. -
1

x2 +
3

x4 + c

D. logx +
1

2x3 + c

Answer: B

Watch Video Solution

7. ∫
3x3 - 2√x

x
dx =

A. x3 - √x + c

B. x3 + √x + c

C. x3 - 2√x + c

D. x3 - 4√x + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XtblFN2kuBgg
https://dl.doubtnut.com/l/_SIKrUcrjnuk4


8. ∫
ax - 2 + bx - 1 + c

x - 3 dx =

A. 2ax2 + 3bx3 + 4cx4 + k

B. 6ax2 + 4bx3 + 3cx4 + k

C. a + b + cx2 + k

D. 
1
2
ax2 +

1
3
bx3 +

1
4
cx4 + k

Answer: D

Watch Video Solution

9. Evaluate ∫ x +
1
x

3
dx, x > 0

A. 
1
4

x +
1
x

4
+ c

B. 
x4

4
+

3x2

2
+ 3logx -

1

2x2 + c

C. 
x4

4
+

3x2

2
+ 3logx +

1

x2 + c

( )
( )

https://dl.doubtnut.com/l/_bqmgpqv1MpoU
https://dl.doubtnut.com/l/_2QTV4ZZq8ohK


D. 4 x +
1
x

4
+ c

Answer: B

Watch Video Solution

( )

10. ∫
1

x2 (2x + 1)3dx =

A. 4x2 + 12x + 6logx -
1
x + c

B. 4x2 + 12x - 6logx -
2
x + c

C. 2x2 + 8x + 3logx -
2
x + c

D. 8x2 + 6x + 6logx +
2
x + c

Answer: A

Watch Video Solution

11. ∫
3x3 - 2√x

x
dx =

https://dl.doubtnut.com/l/_2QTV4ZZq8ohK
https://dl.doubtnut.com/l/_oRCTzbD7sL9L
https://dl.doubtnut.com/l/_fzxMIYMTjJiz


A. x3 - √x + c

B. x3 + √x + c

C. x3 - 2√x + c

D. x3 - 4√x + c

Answer: D

Watch Video Solution

12. ∫
√x +

3
√x2

2

x
dx =

A. x +
12
7
x

7

6 +
3
4
x

4

3 + c

B. 
2x

3
2

3
+

3x
7
3

7
+ c

C. x +
4
5
x

5
6 + c

D. x +
12
5
x

5
6 + c

Answer: A

( )

https://dl.doubtnut.com/l/_fzxMIYMTjJiz
https://dl.doubtnut.com/l/_ielvae9HjcPV


Watch Video Solution

13. ∫
(1 + x)2

x 1 + x2
dx

A. logx + c

B. (logx) tan - 1x + c

C. 2logx + tan - 1x + c

D. logx + 2tan - 1x + c

Answer: D

Watch Video Solution

( )

( )

14. Evaluate:
∫
1

x√x2 - 1
dx

A. cos - 1x + c

B. sec - 1x + c

https://dl.doubtnut.com/l/_ielvae9HjcPV
https://dl.doubtnut.com/l/_JVIk8sIosNO6
https://dl.doubtnut.com/l/_pfK5DvVYVbBB


C. cot - 1x + c

D. tan - 1x + c

Answer: B

Watch Video Solution

15. ∫
sin2x - cos2x

sin2xcos2x
dx =

A. tanx + cotx + c

B. tanx + cosecx + c

C. - tanx + cotx + c

D. tanx + secx + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pfK5DvVYVbBB
https://dl.doubtnut.com/l/_m7KHV4ErffN2


16. ∫ √1 + cosxdx equals

A. 2√2sin
x
2

+ c

B. -2√2sin
x
2

+ c

C. -2√2cos
x
2

+ c

D. 2√2cos
x
2

+ c

Answer: A

Watch Video Solution

(

( )
( )
( )

( )

17. ∫ cos
x
2

- sin
x
2

2
dx =

A. x + cosx + c

B. 2cos2 x
2

+ c

C. 
1
3

cos
x
2

-
x
2

3
+ c

( ( ) ( ))

( )
( ( ) )

https://dl.doubtnut.com/l/_yG8vSdUrgP7K
https://dl.doubtnut.com/l/_MiFDN189YmNe


D. x - cosx + c

Answer: A

Watch Video Solution

18. If f′ (x) = x2 + 5 and f(0) = - 1 then f(x) =

A. x3 + 5x - 1

B. x3 + 5x + 1

C. 
1
3
x3 + 5x - 1

D. 
1
3
x2 + 5x + 1

Answer: C

Watch Video Solution

19. If f′ (x) = x +
1
x

 & f(1) = 5/2 then f(x) = ?

https://dl.doubtnut.com/l/_MiFDN189YmNe
https://dl.doubtnut.com/l/_IbJHGUJaKrkn
https://dl.doubtnut.com/l/_sqK52TPRYr4k


A. logx +
x2

2
+ 2

B. logx +
x2

2
+ 1

C. logx -
x2

2 + 2

D. logx -
x2

2
+ 1

Answer: A

Watch Video Solution

20. ∫sinxcos4xdx =

A. 5cos5x + c

B. -
1
5

cos5x + c

C. -
1
5

cos5x ⋅ sin4x + c

D. cos5xsin4x + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sqK52TPRYr4k
https://dl.doubtnut.com/l/_zOInanOVlUux


21. Evaluate ∫
(1 + logx)2

x
dx

A. (1 + logx)3 + c

B. 3(1 + logx)3 + c

C. 
1
3

(1 + logx)3 + c

D. 2(1 + logx)3 + c

Answer: C

Watch Video Solution

22. ∫x√1 + x2dx =

A. 
1 + 2x2

√1 + x2
+ c

B. √1 + x2 + c

C. 3 1 + x2 3 / 2
+ c( )

https://dl.doubtnut.com/l/_zOInanOVlUux
https://dl.doubtnut.com/l/_P4i6cQyCTPpk
https://dl.doubtnut.com/l/_KFtdw7sm9Dh1


D. 
1
3

1 + x2 3 / 2 + c

Answer: D

Watch Video Solution

( )

23. ∫
etan - 1x

1 + x2 dx

A. log 1 + x2 + c

B. logetan - 1x + c

C. etan - 1x + c

D. tan - 1etan - 1x + c

Answer: C

Watch Video Solution

( )

24. ∫
sec2x

(1 + tanx)
dx

https://dl.doubtnut.com/l/_KFtdw7sm9Dh1
https://dl.doubtnut.com/l/_P097jfIKepLA
https://dl.doubtnut.com/l/_Wu8wN3d0ojEO


A. log|cosx + sinx| + c

B. log sec2x + c

C. log|1 + tanx| + c

D. -
1

(1 + tanx)2 + c

Answer: C

Watch Video Solution

| |

25. ∫
cotx

log(sinx)
dx

A. log(logsinx) + c

B. log(logcosecx) + c

C. 2log(logsinx) + c

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Wu8wN3d0ojEO
https://dl.doubtnut.com/l/_4cQuwOyVbDaT


26. ∫
sin2x

1 + sin2x
dx =

A. log(sin2x) + c

B. log 1 + sin2x + c

C. 
1
2

log 1 + sin2x + c

D. tan - 1(sinx) + c

Answer: B

Watch Video Solution

( )
( )

27. ∫
ex - e - x

ex + e - x . dx

A. log ex - e - x + c

B. log ex + e - x + c

C. log e2x - 1 + c

| |
| |
| |

https://dl.doubtnut.com/l/_4cQuwOyVbDaT
https://dl.doubtnut.com/l/_ZRyco9gvdknc
https://dl.doubtnut.com/l/_niRqoeePn5DC


D. log 1 + e2x + c

Answer: B

Watch Video Solution

| |

28. ∫
1

cos - 1x. √1 - x2
dx =

A. log cos - 1x + c

B. - log cos - 1x + c

C. -
1

2 cos - 1x
2

+ c

D. 
1

2 cos - 1x
2

+ c

Answer: B

Watch Video Solution

| |
| |

( )

( )

https://dl.doubtnut.com/l/_niRqoeePn5DC
https://dl.doubtnut.com/l/_vxjmKbGq05hG


29. Evaluate:
∫
1 - sin2x

x + cos2x
dx

A. log x + cos2x + c

B. -cos2xlog
x2

2
+

sin3x
3

+ c

C. log
x + cos2x
1 - sin2x

+ c

D. log x + sin2x + c

Answer: A

Watch Video Solution

| |

| |
| |
| |

30. ∫
cos√x

√x
dx

A. 2cos√x + c

B. 2sin√x + c

C. sin√x + c

https://dl.doubtnut.com/l/_oEGwFl3H7JpX
https://dl.doubtnut.com/l/_T1QL1ygzdJY4


D. 
1
2

cos√x + c

Answer: B

Watch Video Solution

31. ∫
e√xcos e√x

√x
dx = ?

A. 2sin e√x + c

B. sin e√x + c

C. 2cos √x + c

D. -2sin e√x + c

Answer: A

Watch Video Solution

( )

( )
( )

( )

( )

https://dl.doubtnut.com/l/_T1QL1ygzdJY4
https://dl.doubtnut.com/l/_BwpjKd7pHFe0


32. ∫
1

loga
axcosax dx =

A. sinax + c

B. axsinax + c

C. 
1

(loga)2 sinax + c

D. log sinax + c

Answer: C

Watch Video Solution

( )

( )

33. ∫
tan(logx)

x dx = ?

A. log|sin(logx)| + c

B. log|cos(logx)| + c

C. log|sec(logx)| + c

D. log|cosec(logx)| + c

https://dl.doubtnut.com/l/_F5HSqECWVOlF
https://dl.doubtnut.com/l/_SQVGkUXWZAFt


Answer: C

Watch Video Solution

34. ∫
sec2(logx)

x
dx

A. tan(logx) + c

B. tan2(logx) + c

C. secxtan(logx) + c

D. sec(logx)tanx + c

Answer: A

Watch Video Solution

35. ∫
log(logx)
x. logx

dx =

A. [log(logx)]2 + c

https://dl.doubtnut.com/l/_SQVGkUXWZAFt
https://dl.doubtnut.com/l/_UhQLcYn3s1wp
https://dl.doubtnut.com/l/_0qV8y822AYH8


B. 
1
2

[log(logx)]2 + c

C. log(logx) + c

D. xlog(logx) + c

Answer: B

Watch Video Solution

36. ∫secxlog(secx + tanx)dx

A. (secx + tanx)log(secx + tanx) + c

B. 
1
2

[log(secx + tanx)]2 + c

C. log[log(secx + tanx)] + c

D. 
1
2

log(secx + tanx) + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0qV8y822AYH8
https://dl.doubtnut.com/l/_d6zs6smoBLiE
https://dl.doubtnut.com/l/_XNwApyeuIDiv


37. ∫
1

√1 - 16x2

A. 
1
4sin - 1(4x) + c

B. 4sin - 1(4x) + c

C. √1 - 16x2 + c

D. 4√1 - 16x2 + c

Answer: A

Watch Video Solution

38. ∫
dx

√2x - x2

A. cos - 1(x - 1) + c

B. sin - 1(x - 1) + c

C. cos - 1(1 + x) + c

D. sin - 1(1 - x) + c

https://dl.doubtnut.com/l/_XNwApyeuIDiv
https://dl.doubtnut.com/l/_WS3TE9V2s7j4


Answer: B

Watch Video Solution

39. ∫
dx

x2 - 2x + 2
=

A. 
1
2 tan - 1(x - 1) + c

B. tan - 1(x - 1) + c

C. 
1
2

log
x + √2

x - √2
+ c

D. 
1
2

log
x - √2

x + √2
+ c

Answer: B

Watch Video Solution

| |
| |

40. ∫
1

x2 + 4x + 13
dx is equal to

https://dl.doubtnut.com/l/_WS3TE9V2s7j4
https://dl.doubtnut.com/l/_20QOlaxrowdn
https://dl.doubtnut.com/l/_SaltKHm1K2mG


A. log x2 + 4x + 13 + c

B. 
1
3

tan - 1 x + 2
3

+ c

C. log|2x + 4| + c

D. 
2x + 4

x2 + 4x + 13 2
+ c

Answer: B

Watch Video Solution

| |

( )

( )

41. Integration of 
1

9x2 - 25
 with respect to x is

A. 
1
30

log
3x + 5
3x - 5

+ c

B. 
1
27

log
3x - 5
3x + 5

+ c

C. 
1
30

log
3x - 5
3x + 5

+ c

D. 
1
27

log
3x + 5
3x - 5

+ c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_SaltKHm1K2mG
https://dl.doubtnut.com/l/_YNe4n1Q90h6V


Answer: C

Watch Video Solution

42. ∫xcosxdx =

A. -xsinx + cosx + c

B. sinx + xcosx + c

C. xsinx + cosx + c

D. xsinx - cosx + c

Answer: C

Watch Video Solution

43. ∫xexdx = ?

A. (x + 1)ex + c

https://dl.doubtnut.com/l/_YNe4n1Q90h6V
https://dl.doubtnut.com/l/_pqJJNHaWyGLN
https://dl.doubtnut.com/l/_075FWAHXVkm1


B. (x - 1)ex + c

C. xex + 1 + c

D. xex - 1 + c

Answer: B

Watch Video Solution

44. The anti-derivative of 
x

cos2x
 is

A. xtanx + c

B. log|cosx| + c

C. xtanx + log|cosx| + c

D. cotx + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_075FWAHXVkm1
https://dl.doubtnut.com/l/_D12yPESbNSpG
https://dl.doubtnut.com/l/_deW4ykToWEta


45. ∫xsin2xdx = ?

A. 
cos2x

4 +
xsin2x

2 + c

B. 
cos2x

4 -
xsin2x

2 + c

C. 
sin2x

4 -
xcos2x

2 + c

D. 
sin2x

4 +
xcos2x

2 + c

Answer: C

Watch Video Solution

46. ∫x2logxdx =

A. 
1
3x

3logx -
1
9x

3 + c

B. x3logx -
1
9x

3 + c

C. 
1
3x

3logx +
1
9x

3 + c

D. x3logx +
1
9x

3 + c

https://dl.doubtnut.com/l/_deW4ykToWEta
https://dl.doubtnut.com/l/_X8J8G3mNDI16


Answer: A

Watch Video Solution

47. The value of ∫ (x - 1)e - x dx is equal to

A. xe - x + c

B. -xe - x + c

C. xex + c

D. xex + c

Answer: B

Watch Video Solution

48. If ∫exsinxdx =
u
2
ex + c, then `u=

A. 
ex

2
(sinx - cosx) + c

https://dl.doubtnut.com/l/_X8J8G3mNDI16
https://dl.doubtnut.com/l/_cXErnZfmFude
https://dl.doubtnut.com/l/_2KWxOPEzsuYH


B. -cosxex + exsinx + c

C. 
ex

2x
sin2x + c

D. ex( - sinx - cosx) + c

Answer: A

Watch Video Solution

49. ∫ex(sinx + cosx)dx = ?

A. exsinx + c

B. excosx + c

C. -excosx + exsinx + c

D. ex sin2x + sinx + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_2KWxOPEzsuYH
https://dl.doubtnut.com/l/_usF6iv1wC7qK
https://dl.doubtnut.com/l/_j62jIG8yL5J1


50. ∫ex(1 + tanx)secxdx =

A. excotx + c

B. extanx + c

C. exsecx + c

D. excosx + c

Answer: C

Watch Video Solution

51. ∫
dx

x - x2 =

A. logx - log(1 - x) + c

B. log 1 - x2 + c

C. - logx + log(1 - x) + c

D. log x - x2 + c

( )

( )

https://dl.doubtnut.com/l/_j62jIG8yL5J1
https://dl.doubtnut.com/l/_J4iPHxWkPDRK


Answer: A

Watch Video Solution

52. Find ∫
dx

(x + 1)(x + 2)

A. log
x + 2
x + 1

+ c

B. log|x + 1| + log|x + 2| + c

C. log
x + 1
x + 2

+ c

D. log|x + 1| + 2log|x + 2| + c

Answer: C

Watch Video Solution

| |

| |

53. ∫
x - 1

(x - 3)(x - 2)dx =

A. log|x - 3| - log|x - 2| + c

https://dl.doubtnut.com/l/_J4iPHxWkPDRK
https://dl.doubtnut.com/l/_w5mFqxr8HLK9
https://dl.doubtnut.com/l/_G0cOj8loNygT


B. log (x - 3)2 - log|x - 2| + c

C. log|x - 3| + log|x - 2| + c

D. log (x - 3)2 + log|x - 2| + c

Answer: B

Watch Video Solution

| |

| |

54. ∫
x

(x - 1)(x - 2)
dx

A. log
(x - 2)2

(x - 1)
+ p

B. loga
x - 1
x - 2

+ p

C. 
x - 1
x - 2

+ p

D. 2log
x - 2
x - 1

+ p

Answer: A

Watch Video Solution

| |
| |

| |

https://dl.doubtnut.com/l/_G0cOj8loNygT
https://dl.doubtnut.com/l/_f2pzm5o5HEIu


CRITICAL THINKING

55. The value of ∫
dx

x4 + 5x2 + 4
 is

A. 
1
3

tan - 1x -
1
2

tan - 1 x
2

+ c

B. 3tan - 1 x
3

+ 2tan - 1 x
2

+ c

C. 
1
3

tan - 1 +
1
6

tan - 1 x
2

+ c

D. 
1
3

tan - 1x -
1
6

tan - 1 x
2

+ c

Answer: D

Watch Video Solution

( ) ( ) ( )
( ) ( )

( ) ( ) ( )
( ) ( ) ( )

1. ∫
x3 + 3x2 + 3x + 1

(x + 1)5 dx =

A. -
1

x + 1
+ c

https://dl.doubtnut.com/l/_f2pzm5o5HEIu
https://dl.doubtnut.com/l/_ZNUMj9r2Tzjr
https://dl.doubtnut.com/l/_wMNak8Hj1RmE


B. 
1
5

log(x + 1) + c

C. log(x + 1) + c

D. tan - 1x + c

Answer: A

Watch Video Solution

2. Evaluate:
∫ 1 + 2x + 3x2 + 4x3 + dx, ( < |x| < 1)

A. (1 + x) - 1 + c

B. (1 - x) - 1 + c

C. (1 - x) - 1 - x + c

D. (1 + x) - 1 + x + c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_wMNak8Hj1RmE
https://dl.doubtnut.com/l/_5dnd4jYHaGSY
https://dl.doubtnut.com/l/_Pm242lZYkd4S


3. ∫ 1 + x +
x2

2! +
x3

3! + dx

A. -ex + c

B. ex + c

C. e - x + c

D. -e - x + c

Answer: B

Watch Video Solution

( )

4. ∫
dx

√x + 3 - √x + 2

A. 
2
3

log √x + 3 - √x + 2 + c

B. log √x + 3 - √x + 2 + c

C. 
2
3

(x + 3)
3

2 + (x + 2)
3

2 + c

| |

| |

[ ]

https://dl.doubtnut.com/l/_Pm242lZYkd4S
https://dl.doubtnut.com/l/_Bs45uBBxjCdW


D. (x + 3)
3
2 + (x + 2)

2
3 + c

Answer: C

Watch Video Solution

5. ∫
x - 1

(x + 1)2dx =

A. log|x + 1| +
2

x + 1 + c

B. log|x + 1| -
2

x + 1 + c

C. 
2

x + 1 - log|x + 1| + c

D. 2log|x + 1| -
1

x + 1 + c

Answer: A

Watch Video Solution

6. ∫
x4 + 1

x2 + 1
dx

https://dl.doubtnut.com/l/_Bs45uBBxjCdW
https://dl.doubtnut.com/l/_iQSf6DKXK5Z3
https://dl.doubtnut.com/l/_AKvnVApbaxUv


A. 
x3

3
- x + 2tan - 1x + c

B. 0

C. log
x2 + 1

x4 + 1
+ c

D. 
x3

3
- x + tan - 1x + c

Answer: A

Watch Video Solution

| |

7. ∫
5 x6 + 1

x2 + 1
dx

A. 5 x7 + x tan - 1x + c

B. x5 -
5
3
x3 + 5x + c

C. 3x4 - 5x2 + 15x + c

D. 5tan - 1 x2 + 1 + log x2 + 1 + c

Answer: B

( )

( )

( ) ( )

https://dl.doubtnut.com/l/_AKvnVApbaxUv
https://dl.doubtnut.com/l/_dbJLE1sRntgV


Watch Video Solution

8. ∫2x.3x+ 1.4x+ 2dx =

A. 
(48)x

log48
+ c

B. 
2x3x+ 14x+ 2

log2 + log4 + log3
+ c

C. 
(24)x+ 2

log24 + c

D. 
2x+ 13x+ 24x+ 3

log2 + log4 + log3
+ c

Answer: B

Watch Video Solution

9. If f(x) =
1

1 - x , then ∫ fofof (x)dx =

A. x + c

B. 
x2

2
+ c

( )

https://dl.doubtnut.com/l/_dbJLE1sRntgV
https://dl.doubtnut.com/l/_qQm6ZPoeQEl2
https://dl.doubtnut.com/l/_7KXbJBAFpfzz


C. 
x3

3
+ c

D. 
x4

4
+ c

Answer: B

Watch Video Solution

10. ∫9log3 ( secx )dx =

A. secx. tanx + c

B. cotx + c

C. tanx + c

D. sec2x + tan2x + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7KXbJBAFpfzz
https://dl.doubtnut.com/l/_DBSfq3BAVyGP


11. ∫ ealogx + exloga dx =

A. xa+ 1 +
ax

loga + c

B. 
xa+ 1

a + 1
+ axloga + c

C. 
xa+ 1

a + 1
+

ax

loga
+ c

D. xa+ 1 + axloga + c

Answer: C

Watch Video Solution

( )

12. Evaluate ∫sec2xcosec2xdx.

A. 2cot2x + c

B. tanx - cotx + c

C. secx + tanx + c

D. -2cotx + c

https://dl.doubtnut.com/l/_vs8WLCS15vhf
https://dl.doubtnut.com/l/_kdhTPvotjUpt


Answer: B

Watch Video Solution

13. ∫ sin - 1x + cos( - 1)x dx =

A. 
1
4
πx + c

B. x sin - 1x - cos - 1x + c

C. x cos - 1x + sin - 1x + c

D. 
π
2

+ x + c

Answer: C

Watch Video Solution

( )

( )
( )

14. Evaluate: (i) ∫sin - 1(cosx) dx,   0 ≤ x ≤ π
 (ii) `inttan^(-1){sqrt(((1-

cos2x)/(1+cos2x)))}\ dx ,\ \ 0

https://dl.doubtnut.com/l/_kdhTPvotjUpt
https://dl.doubtnut.com/l/_gK2oPLuD8NMc
https://dl.doubtnut.com/l/_9lGZmqtk4Pcp


A. 
πx
2

B. 
πx2

2

C. 
πx - x2

2

D. 
πx + x2

2

Answer: C

Watch Video Solution

15. If ∫ (cosx - sinx)dx = √2sin(x + α) + c, then α =

A. 
π
3

B. -
π
3

C. 
π
4

D. -
π
4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9lGZmqtk4Pcp
https://dl.doubtnut.com/l/_pPPZESbHCOLc


16. ∫sin3xcos4xdx =

A. 
1
2 sinx +

1
6sin6x + c

B. 
1
2cosx -

1
6cos6x + c

C. -
1
14cos7x +

1
2cosx + c

D. 4cos3x - 3sinx + c

Answer: C

Watch Video Solution

( )

17. ∫
1

tanx + cotx
dx =

A. 
cos2x

4
+ c

B. 
sin2x

4
+ c

C. -
sin2x

4
+ c

https://dl.doubtnut.com/l/_pPPZESbHCOLc
https://dl.doubtnut.com/l/_GmReQlhT5vVK
https://dl.doubtnut.com/l/_5MkMAPSWWSdn


D. -
cos2x

4
+ c

Answer: D

Watch Video Solution

18. ∫2sinxcosxdx is equal to

A. cos2x + c

B. sin2x + c

C. cos2x + c

D. sin2x + c

Answer: D

Watch Video Solution

19. ∫√1 + sin2xdx is equal to

https://dl.doubtnut.com/l/_5MkMAPSWWSdn
https://dl.doubtnut.com/l/_eAu1kbCOEEVH
https://dl.doubtnut.com/l/_UWVeM5q25e0V


A. sinx + cosx + c

B. cosx - sinx + c

C. sinx - cosx + c

D. - sinx - cosx + c

Answer: C

Watch Video Solution

20. ∫
sinx + cosx

√1 + sinx
dx

A. sinx + c

B. cosx + c

C. x + c

D. x2 + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UWVeM5q25e0V
https://dl.doubtnut.com/l/_6c3l6sxHi3O0


Watch Video Solution

21. 4∫
sin3x + cos3x

sin22x
dx =

A. secx - cosecx + c

B. secx + cosecx + c

C. sinx - cosx + c

D. sinx + cosx + c

Answer: A

Watch Video Solution

22. ∫
1

cos2x + sin2x
dx

A. sinx + c

B. cosx + c

C. tanx + c

https://dl.doubtnut.com/l/_6c3l6sxHi3O0
https://dl.doubtnut.com/l/_OqGnRSdo0xEQ
https://dl.doubtnut.com/l/_xvLsTALQXsht


D. 0

Answer: C

Watch Video Solution

23. ∫
cos2x - cos2α
cosx - cosα

dx

A. 2(sinx + xcosα) + c

B. 2(sinx + sinα) + c

C. 2( - sinx + xcosα) + c

D. -2(sinx + sinα) + c

Answer: A

Watch Video Solution

24. ∫ 2 + √2 + √2 + 2cos8xdx =√

https://dl.doubtnut.com/l/_xvLsTALQXsht
https://dl.doubtnut.com/l/_j2JwSmQsxjo7
https://dl.doubtnut.com/l/_bjJVqSaI7CV6


A. 2cosx + c

B. 2sec2x + c

C. 2sinx + c

D. √2sinx + c

Answer: C

Watch Video Solution

25. ∫ sin4x - cos4x dx =

A. sinx - cosx + c

B. sinx. cosx + c

C. - sinx. cosx + c

D. 
sin5x
5cosx +

cos5x
sinx + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_bjJVqSaI7CV6
https://dl.doubtnut.com/l/_KY5dktkYGV94


26. 
sin8x - cos8x

1 - 2sin2xcos2x

A. sin2x + c

B. cos2x + c

C. -
1
2sin2x + c

D. sin2x + c

Answer: C

Watch Video Solution

27. ∫ tan - 1 1 - cos2x
1 + cos2x

dx

A. 2x2 + c

B. x2 + c

C. 
x2

2
+ c

(√ )

https://dl.doubtnut.com/l/_KY5dktkYGV94
https://dl.doubtnut.com/l/_TQ9lJRGEtNnR
https://dl.doubtnut.com/l/_Pqy7nGsv8mLU


D. 2x + c

Answer: C

Watch Video Solution

28. ∫ tan - 1 sinx
1 + cosx

dx =

A. 
x2

2
+ c

B. 
x2

3
+ c

C. 
x2

4 + c

D. 
x2

5
+ c

Answer: C

Watch Video Solution

( )

29. If ∫
cos4x + 1
cotx - tanx dx = Acos4x + B, then

https://dl.doubtnut.com/l/_Pqy7nGsv8mLU
https://dl.doubtnut.com/l/_XDKaO7BZbwXo
https://dl.doubtnut.com/l/_8p8snqHwsXBd


A. 
-1
8

B. 
1
8

C. 
1
4

D. 
-1
4

Answer: A

Watch Video Solution

30. ∫cos.
x

16
cos.

x
8

cos.
x
4

cos.
x
2

sin.
x

16
dx =

A. 
1

256
cos16x + c

B. 
-1

256
cos16x + c

C. 
1

256
sin16x + c

D. 
-1
4

cos
x
2

+ c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8p8snqHwsXBd
https://dl.doubtnut.com/l/_SJca7a75ZMys


31. Evaluate :
∫
sin6x + cos6x

sin2x
.

cos
2
x

dx

A. cotx + cot2x + c

B. tanx - cotx - 3x + c

C. 2sin5x + 2cos5x + c

D. sin3x + 2cos3x + c

Answer: B

Watch Video Solution

32. ∫
cotxtanx

sec2x - 1
dx =

A. cotx - x + c

B. -cotx + x + c

C. cotx + x + c

https://dl.doubtnut.com/l/_SJca7a75ZMys
https://dl.doubtnut.com/l/_jeZOGMIp6y1M
https://dl.doubtnut.com/l/_U6DBqPZIzgqQ


D. -cotx - x + c

Answer: D

Watch Video Solution

33. ∫
1 + cos2x

sin2x
dx =

A. -cotx - 2x + c

B. -2cotx - 2x + c

C. -2cotx - x + c

D. -2cotx + x + c

Answer: C

Watch Video Solution

34. 2∫
1 + cos4x
1 - cos4x

dx =

https://dl.doubtnut.com/l/_U6DBqPZIzgqQ
https://dl.doubtnut.com/l/_t1EoZ7WItPG6
https://dl.doubtnut.com/l/_3hDCeHmBo4OO


A. -cot2x - 2x + c

B. cot2x - 2x + c

C. -cot2x + 2x + c

D. cot2x + 2x + c

Answer: A

Watch Video Solution

35. ∫
1 + tan
1 - tanx

2
dx =

A. 
1
3

log[(cosx - sinx)]3 + c

B. tan x -
π
4

+ c

C. tan
π
4

+ x - x + c

D. 2
1 + sec2x

1 - sec2x
+ c

Answer: C

( )

( )
( )

( )

https://dl.doubtnut.com/l/_3hDCeHmBo4OO
https://dl.doubtnut.com/l/_qJd0WRws6iN8


Watch Video Solution

36. ∫ (secx + tanx)2dx =

A. 2(secx + tanx) - x + c

B. 
1
3

(secx + tanx)3 + c

C. secx(secx + tanx) + c

D. 2(secx + tanx) + c

Answer: A

Watch Video Solution

37. ∫
tanx

secx + tanx
dx =

A. secx + tanx - x + c

B. secx - tanx + x + c

https://dl.doubtnut.com/l/_qJd0WRws6iN8
https://dl.doubtnut.com/l/_UvBP1C4Xirsw
https://dl.doubtnut.com/l/_jgV2clcSMv28


C. secx + tanx + x + c

D. - secx - tanx + x + c

Answer: B

Watch Video Solution

38. ∫ tan(3x - 5)sec(3x - 5)dx is equal to (A) sec(3x - 5) + c (B)

1
3

sec(3x - 5) + c (C) tan(3x - 5) + c (D) none

A. sec(3x - 5) + c

B. 
1
3

sec(3x - 5) + c

C. tan(3x - 5) + c

D. 
1
3

tan(3x - 5) + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jgV2clcSMv28
https://dl.doubtnut.com/l/_pxpRWHYzKd70
https://dl.doubtnut.com/l/_qTUkOHljWduB


39. ∫
f′ (x)

[f(x)]2 dx =

A. - [f(x)] - 1 + c

B. log[f(x)] + c

C. ef ( x ) + c

D. - log[f(x)] + c

Answer: A

Watch Video Solution

40. ∫
10x9 + 10xloge10

10x + x10 dx =

A. -
1

2 10x + x10 2
+ c

B. log 10x + x10 + c

C. 
1

2 10x + x10 2
+ c

D. 
1
2

log 10x + x10 + c

( )
( )

( )
( )

https://dl.doubtnut.com/l/_qTUkOHljWduB
https://dl.doubtnut.com/l/_pyBlY0fhGkto


Answer: B

Watch Video Solution

41. ∫
x - 2

x2 - 4x + 3
dx =

A. log √x2 - 4x + 3 + c

B. xlog(x - 3) - 2log(x - 2) + c

C. log[(x - 3)(x - 1)] + c

D. log x2 - 4x + 3 2 + c

Answer: A

Watch Video Solution

( )

( )

42. ∫x6sin 5x7 dx =
k
5

cos 5x7 + c ,then k=

A. k=7

( ) ( )

https://dl.doubtnut.com/l/_pyBlY0fhGkto
https://dl.doubtnut.com/l/_Y4I6GX6KsWo6
https://dl.doubtnut.com/l/_sCdt1qaarGfM


B. k=-7

C. k =
1
7

D. k = -
1
7

Answer: D

Watch Video Solution

43. If ∫
sinx

sin(x - α)
dx = Ax + Blogsin(x - α) + C, then value of (A, B) is

A. xsinα - sinαlog|sin(x + α)| + c

B. xcosα + sinαlog|sin(x - α)| + c

C. xcosα - sinαlog|sin(x + α)| + c

D. xsinα + sinαlog|sin(x - α)| + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sCdt1qaarGfM
https://dl.doubtnut.com/l/_PNelOvmC4d5l
https://dl.doubtnut.com/l/_rKChV02oDuAa


44. ∫
cos(x + α)

cosx dx =

A. (cosα)x - sinαlog|cosx| + c

B. (cosα)x - sinαlog|secx| + c

C. (cosα)x + sinαlog|secx| + c

D. (cosα) + sinαlog|cosx| + c

Answer: B

Watch Video Solution

45. ∫
1

√1 + cosx
dx =

A. √2log sec
x
2

+ tan
x
2

+ c

B. 
1

√2
log sec

x
2

+ tan
x
2

+ c

C. log sec
x
2

+ tan
x
2

+ c

| |
| |

| |

https://dl.doubtnut.com/l/_rKChV02oDuAa
https://dl.doubtnut.com/l/_J7EzHvyPJHXy


D. 2log sec
x
2

+ tan
x
2

+ c

Answer: A

Watch Video Solution

| |

46. ∫
dx

4cos32x - 3cos2x
=

A. 
1
3 log|sec6x + tan6x| + c

B. 
1
6 log|sec6x + tan6x| + c

C. log|sec6x + tan6x| + c

D. 3log|sec6x + tan6x| + c

Answer: B

Watch Video Solution

47. Evaluate: ∫
dx

sinx + √3cosx

https://dl.doubtnut.com/l/_J7EzHvyPJHXy
https://dl.doubtnut.com/l/_Ij8zaxBdRNEI
https://dl.doubtnut.com/l/_kW5ezh2QPd1H


A. log tan
x
2

+
π
2

+ c

B. 
1
2

log tan
x
2

+
π
6

+ c

C. log cot
x
2

+
π
6

+ c

D. 
1
2

log cot
x
2

+
π
6

+ c

Answer: B

Watch Video Solution

| ( ) |
| ( )|

| ( )|
| ( )|

48. ∫
sin2x

sin5x. sin3x
dx =

A. log|sin3x| - log|sin5x| + c

B. 
1
3

log|sin3x| +
1
5

log|sin5x| + c

C. 
1
3

log|sin3x| -
1
5

log|sin5x| + c

D. 
log|sin2x|

log|sin3x| + log|sin5x|
+ c

Answer: C

https://dl.doubtnut.com/l/_kW5ezh2QPd1H
https://dl.doubtnut.com/l/_dTGC13QkyM2H


Watch Video Solution

49. ∫
1 + x
1 - x

dx = ?

A. - sin - 1x - √1 - x2 + c

B. sin - 1x + √1 - x2 + c

C. sin - 1x - √1 - x2 + c

D. - sin - 1x - √x2 - 1 + c

Answer: C

Watch Video Solution

√

50. ∫
(x + 1)(x + logx)2

x
dx = ?

A. 
1
3

(x + logx) + c

B. 
1
3

(x + logx)2 + c

https://dl.doubtnut.com/l/_dTGC13QkyM2H
https://dl.doubtnut.com/l/_0cOLCHsTDWyL
https://dl.doubtnut.com/l/_efOeRrBVeniu


C. 
1
3

(x + log)3 + c

D. 
1
3

(1 + logx)3 + c

Answer: C

Watch Video Solution

51. ∫
dx

x. logx. log(logx)
=

A. log|logx| + c

B. log|log(logx)| + c

C. [log|logx|]2 + c

D. 
log|logx|

x
+ c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_efOeRrBVeniu
https://dl.doubtnut.com/l/_HVQDjxcIJfxi


52. ∫
1

x3 logxx
2
dx =

A. 
1

x3 (logx) + x + c

B. 
1
3 (logx)3 + c

C. 3log(logx) + c

D. x3(logx)3 + c

Answer: B

Watch Video Solution

[ ]

53. If 
dI
dy

= 3cosy
⋅ siny, then I is equal to

A. siny + c

B. 3cosy + c

C. 
-3cosy

log3 + c

D. 3siny + c

https://dl.doubtnut.com/l/_zLaRuDrcOw3d
https://dl.doubtnut.com/l/_tTIqBvpSasTY


Answer: C

Watch Video Solution

54. ∫aa
x
. axdx =

A. 
aa

x

(loga)2 + c

B. aa
x
(loga)2 + c

C. 
aa

x

loga + c

D. aa
x
loga + c

Answer: A

Watch Video Solution

55. ∫e - x cosec2 2e - x + 5 dx

A. 
1
2

cot 2e - x + 5 + c

( )

( )

https://dl.doubtnut.com/l/_tTIqBvpSasTY
https://dl.doubtnut.com/l/_O8kD8B4XEMi4
https://dl.doubtnut.com/l/_kMORAioIITVi


B. -
1
2

cot 2e - x + 5 + c

C. 2cot 2e - x + 5 + c

D. -2cot 2e - x + 5 + c

Answer: A

Watch Video Solution

( )
( )
( )

56. ∫
dx

1 + ex

A. log 1 + ex + c

B. - log 1 + e - x + c

C. - log 1 - e - x + c

D. log e - x + e - 2x + c

Answer: B

Watch Video Solution

| |
| |
| |

| |

https://dl.doubtnut.com/l/_kMORAioIITVi
https://dl.doubtnut.com/l/_rU99J4BH8XTG
https://dl.doubtnut.com/l/_Jh4zjPtOET7x


57. ∫
1

e2x + e - 2x 2
dx =

A. 
-1

4 e4x + 1
+ c

B. 
1

4 e4x + 1
+ c

C. 
-1

2 e4x + 1
+ c

D. 
1

2 e4x + 1
+ c

Answer: A

Watch Video Solution

( )

( )

( )

( )

( )

58. Evaluate the following integrals: 

∫
logx

(1 + logx)2 dx

A. 
1

1 + logx
+ c

B. 
x

(1 + logx)2 + c

https://dl.doubtnut.com/l/_Jh4zjPtOET7x
https://dl.doubtnut.com/l/_IJNyii0etTWk


C. 
x

1 + logx
+ c

D. 
1

(1 + logx)2 + c

Answer: C

Watch Video Solution

59. 
ex(1 + x)

sin xex

A. log cot
xex

2
+ c

B. sin xex + c

C. log tan
xex

2
+ c

D. -cos xex + c

Answer: C

Watch Video Solution

( )

| ( )|
( )

| ( )|
( )

https://dl.doubtnut.com/l/_IJNyii0etTWk
https://dl.doubtnut.com/l/_FTajACEf66cN


60. Evaluate:
∫
cosecx
logtanx

2

dx

A. log log tan
x
2 + c

B. 2log log tan
x
2 + c

C. 
1
2 log log tan

x
2 + c

D. 2log tan
x
2 + c

Answer: A

Watch Video Solution

| ( ) |
| ( )|
| ( )|
| |

61. Evaluate: ∫
x2tan - 1x3

1 + x6 dx

A. 
1
6 tan - 1 x3 2

+ c

B. 
1
6 tan - 1 x3 + c

C. 
1
6 tan - 1 1 + x6 2

+ c

[ ( )]
( )

[ ( ) ]

https://dl.doubtnut.com/l/_4wmaxIakh6Lv
https://dl.doubtnut.com/l/_u9ipio5iOTap


D. tan - 1 x3

6
+ c

Answer: A

Watch Video Solution

( )

62. ∫
tan4√xsec2√x

√x
dx

A. 2tan5√x + c

B. 
1
2 tan5√x + c

C. 
2
5 tan5√x + c

D. 
1
5 tan5√x + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_u9ipio5iOTap
https://dl.doubtnut.com/l/_cmeo5CejjaDE


63. ∫extan2 ex dx =

A. tan ex - x + c

B. ex tan ex - 1 + c

C. sec ex + c

D. tan ex - ex + c

Answer: D

Watch Video Solution

( )

( )
[ ( ) ]
( )
( )

64. ∫
x2 + 1

x x2 - 1
dx is equal to

A. log
x2 - 1
x + c

B. - log
x2 - 1
x + c

( )

( )
( )

https://dl.doubtnut.com/l/_Dor2FVdl2SOA
https://dl.doubtnut.com/l/_mKdXfxZAfmZX


C. log
x

x2 + 1
+ c

D. - log
x

x2 + 1
+ c

Answer: A

Watch Video Solution

( )
( )

65. ∫
x4 - x

1
4

x5 dx

A. 
4
15

1 -
1

x3

5
4 + c

B. 
4
5

1 -
1

x3

5
4 + c

C. 
4
15

1 +
1

x3

5
4 + c

D. 
4
5

1 +
1

x3

5
4 + c

Answer: A

( )

( )
( )
( )

( )

https://dl.doubtnut.com/l/_mKdXfxZAfmZX
https://dl.doubtnut.com/l/_jcUE85PCWlaj


Watch Video Solution

66. What is ∫
dx

x x7 + 1
 equal to?

A. log
x7

x7 + 1
+ c

B. 
1
7

log
x7

x7 + 1
+ c

C. log
x7 + 1

x7 + c

D. 
1
7

log
x7 + 1

x7 + c

Answer: B

Watch Video Solution

( )

| |
| |

| |
| |

67. Evaluate: ∫
1

x  xn + 1
 dx
(ii) ∫

1

x x5 + 1
 dx

( ) ( )

https://dl.doubtnut.com/l/_jcUE85PCWlaj
https://dl.doubtnut.com/l/_bqMRwooMt7kr
https://dl.doubtnut.com/l/_C1S8H57YkJPG


A. log
xn

xn + 1
+ c

B. 
1
n

log
xn

xn + 1
+ c

C. 
1
2n

log
xn

xn + 1
+ c

D. 
1
2n

log
xn + 1

xn
+ c

Answer: B

Watch Video Solution

| |
| |
| |
| |

68. 
1

cos2x(1 - tanx)2

A. 
1

tanx - 1 + c

B. 
1

1 - tanx + c

C. -
1

3(1 - tanx)3 + c

D. 
1

2(1 - tanx) + c

https://dl.doubtnut.com/l/_C1S8H57YkJPG
https://dl.doubtnut.com/l/_Txlbx2HIPQNm


Answer: B

Watch Video Solution

69. Evaluate: ∫
1

x2√1 + x2
 dx

A. -
√1 + x2

x
+ c

B. 
√1 + x2

x
+ c

C. -
√1 - x2

x
+ c

D. -
√x2 - 1

x
+ c

Answer: A

Watch Video Solution

70. The value of ∫
x3

√1 + x4
dx is

https://dl.doubtnut.com/l/_Txlbx2HIPQNm
https://dl.doubtnut.com/l/_Df8B4pHBmVDf
https://dl.doubtnut.com/l/_2t9Cv42IrNk0


A. 1 + x4
1
2 + c

B. - 1 + x4
1

2 + c

C. 
1
2

1 + x4
1
2 + c

D. -
1
2

1 + x4
1

2 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

71. ∫
sin2xdx

sin2x + 2cos2x
=

A. 
1
2 log 1 + cos2x + c

B. 2log 1 + cos2x + c

C. 
1
2 log|1 + cos2x| + c

D. - log 1 + cos2x + c

Answer: D

Watch Video Solution

| |
| |

| |

https://dl.doubtnut.com/l/_2t9Cv42IrNk0
https://dl.doubtnut.com/l/_FnshLbjS3W1E


Watch Video Solution

72. ∫
cos2x

(sinx + cosx)2dx is equal to

A. log √cosx + sinx + c

B. log|cosx - sinx| + c

C. log|cosx + sinx| + c

D. -
1

cosx + sinx
+ c

Answer: C

Watch Video Solution

| |

73. ∫
sinxcosx

3sin2x + 5cos2x
dx =

A. 
1
4

log 3sin2x + 5cos2x + c

B. -
1
4

log 3sin2x + 5cos2x + c

C. 
1
4

log 3sin2x - 5cos2x + c

| |
| |

| |

https://dl.doubtnut.com/l/_FnshLbjS3W1E
https://dl.doubtnut.com/l/_4ryYdtcnRhWu
https://dl.doubtnut.com/l/_xAjlfT7qS6g4


D. -
1
4

log 3sin2x - 5cos2x + c

Answer: B

Watch Video Solution

| |

74. ∫
cosx + xsinx

x2 + xcosx
dx =  . . . .

A. log
sinx

1 + cosx + c

B. log
sinx

x + cosx + c

C. log
xsinx

x + cosx + c

D. log
x

x + cosx + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_xAjlfT7qS6g4
https://dl.doubtnut.com/l/_Ml0DcDBIwlOJ


75. ∫
log x + √1 + x2

√1 + x2
dx

A. 
1
2 log x + √1 + x2 2

+ c

B. log x + √1 + x2 2
+ c

C. log x + √1 + x2 + c

D. 2log x + √1 + x2 + c

Answer: A

Watch Video Solution

( )

[ ( ]
( )
( )
( )

76. ∫x xx x(2logx + 1)dx =

A. xx x + c

B. log(x)x + c

C. xx + c

( )

( )

https://dl.doubtnut.com/l/_lAIDWqcLyku1
https://dl.doubtnut.com/l/_LzscvL5Ge4gT


D. 2 xx x + c

Answer: A

Watch Video Solution

( )

77. ∫√1 + 2tanx(secx + tanx)dx =

A. - log|1 - sinx| + c

B. log|secx + tanx| + c

C. log|secx(cosecx - cotx)| + c

D. 
sec2x + tan2x

2√1 + 2tanx(secx + tanx)
+ c

Answer: A

Watch Video Solution

78. ∫
dx

x√1 - (logx)2 =

https://dl.doubtnut.com/l/_LzscvL5Ge4gT
https://dl.doubtnut.com/l/_qGC62wWQ6so8
https://dl.doubtnut.com/l/_1K1Cnrd0gPRp


A. cos - 1(logx) + c

B. xlog 1 - x2 + c

C. sin - 1(logx) + c

D. 
1
2

cos - 1(logx) + c

Answer: C

Watch Video Solution

( )

79. ∫
sinx

√4 - cos2x
dx =

A. sin - 1 cosx
2 + c

B. 
1
2sin - 1 cosx

2 + c

C. -
1
2sin - 1 cosx

2 + c

D. - sin - 1 cosx
2 + c

Answer: D

( )
( )
( )

( )

https://dl.doubtnut.com/l/_1K1Cnrd0gPRp
https://dl.doubtnut.com/l/_LAhc5SAXKPox


Watch Video Solution

80. ∫
secxdx

√cos2x
=

A. sin - 1(tanx) + c

B. tanx + c

C. cos - 1(tanx) + c

D. 
sinx

√cosx
+ c

Answer: A

Watch Video Solution

81. The value of ∫
2dx

√1 - 4x2
 is

A. tan - 1(2x) + c

B. cos - 1(2x) + c

https://dl.doubtnut.com/l/_LAhc5SAXKPox
https://dl.doubtnut.com/l/_4T8Wd8Z3g7bx
https://dl.doubtnut.com/l/_9MytniAr2AbS


C. cot - 1(2x) + c

D. sin - 1(2x) + c

Answer: D

Watch Video Solution

82. ∫
dx

√2 - 3x - x2
=

A. tan - 1 2x + 3

√17
+ c

B. sec - 1 2x + 3

√17
+ c

C. sin - 1 2x + 3

√17
+ c

D. cos - 1 2x + 3

√17
+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_9MytniAr2AbS
https://dl.doubtnut.com/l/_rwWRHt6zbSUm


83. Evaluate: ∫
cosx

√4 - sin2x
 dx

A. -2sin - 1 1
2

sinx + c

B. 2sin - 1 1
2

sinx + c

C. sin - 1 1
2

sinx + c

D. - sin - 1 1
2

sinx + c

Answer: C

Watch Video Solution

( )
( )

( )
( )

84. ∫
3x2

√9 - 16x6
dx

A. 
1
4

sin - 1 4x3

3
+ c

B. 
1
3

sin - 1 4x3

3
+ c

( )
( )

https://dl.doubtnut.com/l/_rwWRHt6zbSUm
https://dl.doubtnut.com/l/_ktnELsjB4bD4
https://dl.doubtnut.com/l/_ijWT13pH0NnH


C. 
1
4

sin - 1 x3 + c

D. 
1
3

sin - 1 x3 + c

Answer: A

Watch Video Solution

( )
( )

85. ∫
a - x
a + x

dx

A. asin - 1 x
a

+ √a2 - x2 + c

B. asin - 1 x
a

+ √a2 + x2 + c

C. asin - 1 x
a

- √a2 - x2 + c

D. asin - 1 x
a

- √a2 + x2 + c

Answer: A

Watch Video Solution

√
( )
( )
( )
( )

https://dl.doubtnut.com/l/_ijWT13pH0NnH
https://dl.doubtnut.com/l/_ui5r82ipU3Bn
https://dl.doubtnut.com/l/_nnxAz5mJZwKE


86. If ∫
2x

√1 - 4x
dx = k. sin - 1 2x + c, then : k =

A. log 2

B. 
1
2

C. 
1
2

log2

D. 
1

log2

Answer: D

Watch Video Solution

( )

87. ∫
√x

1 + x
dx =

A. √x - tan - 1√x + c

B. 2 √x - tan - 1√x + c

C. 2 √x + tan - 1√x + c

D. √1 + x + c

( )
( )

https://dl.doubtnut.com/l/_nnxAz5mJZwKE
https://dl.doubtnut.com/l/_ZEWeha4AEVyz


Answer: B

Watch Video Solution

88. ∫
elog 1 +

1

x2

x2 +
1

x2

dx =

A. 
1

√2
tan - 1 x2 - 1

x√2
+ c

B. 
1

√2
log

x2 + 1

x√2
+ c

C. 
-1

√2
tan - 1 x -

1
x + c

D. 
1

√2
tan - 1 x -

1
x

+ c

Answer: A

Watch Video Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_ZEWeha4AEVyz
https://dl.doubtnut.com/l/_aQlyrAkxZalf


89. ∫
xdx

x4 + x2 + 1

A. 
1

√2
tan - 1 x4 + x2 + 1

√2
+ c

B. 
x2 + 1

3
log x4 + x2 + 1 + c

C. 
1

√3
tan - 1 2x2 + 1

√3
+ c

D. tan - 1(x)log
x4 + 1

x2 + c

Answer: C

Watch Video Solution

( )
( ) | |

( )
| |

90. ∫
1

1 + sin2x
dx =

A. 
1

√2
tan - 1 √2tanx + c

B. √2tan - 1 √2tanx + c

( )

( )

https://dl.doubtnut.com/l/_7pzUpTxEtGMd
https://dl.doubtnut.com/l/_NVh4j5qRGzgE


C. -
1

√2
tan - 1 √2tanx + c

D. -√2tan - 1 √2tanx + c

Answer: A

Watch Video Solution

( )

( )

91. ∫
1

1 + cos2x
dx =

A. 
1

√2
tan - 1(tanx) + c

B. 
1

√2
tan - 1 1

2
tanx + c

C. 
1

√2
tan - 1 1

√2
tanx + c

D. √2tan - 1 1

√2
tanx + c

Answer: C

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_NVh4j5qRGzgE
https://dl.doubtnut.com/l/_h5976tLXVfOy
https://dl.doubtnut.com/l/_Ngs8pG5bN3Ov


92. ∫
sinx

3 + 4cos2x
dx = …….

A. log 3 + 4cos2x + c

B. 
-1

2√3
tan - 1 cosx

√3
+ c

C. 
-1

2√3
tan - 1 2cosx

√3
+ c

D. 
1

2√3
tan - 1 2cosx

√3
+ c

Answer: C

Watch Video Solution

( )

( )
( )
( )

93. ∫  
dx

a2sin2x + b2cos2x

A. 
a2

b2 log asin2x + bcos2x + c

B. 
1
ab

tan - 1 a
b

tanx + c

| |

( )

https://dl.doubtnut.com/l/_Ngs8pG5bN3Ov
https://dl.doubtnut.com/l/_UNHJthmmv8sR


C. tan - 1

tan
x

2

2√3
+ c

D. tan - 1

tan
x

2

√3
+ c

Answer: B

Watch Video Solution

( ( ) )
( ( ) )

94. ∫
dx

4sin2x + 5cos2x
= ?

A. 
1

√5
tan - 1 2tanx

√5
+ c

B. 
1

√5
tan - 1 tanx

√5
+ c

C. 
1

2√5
tan - 1 2tanx

√5
+ c

D. 
1

2√5
tan - 1 tanx

√5
+ c

( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_UNHJthmmv8sR
https://dl.doubtnut.com/l/_M4WEu9JoggOo


Answer: C

Watch Video Solution

95. ∫
dx

2sin2x - 3cos2x + 7
=

A. 
1
3 tan - 1 3tanx

2 + c

B. 
1
6 tan - 1 3tanx

2 + c

C. 
1
3 tan - 1 tanx

2 + c

D. 
1
6 tan - 1 tanx

2 + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

96. Evaluate ∫
dx

(2 + cosx)
.

https://dl.doubtnut.com/l/_M4WEu9JoggOo
https://dl.doubtnut.com/l/_6zLc4GoZiQkY
https://dl.doubtnut.com/l/_tm4pdRc7cKp0


A. 2tan - 1 1

√3
tan

x
2

+ c

B. 
2

√3
tan - 1 1

√3
tan

x
2

+ c

C. 
1

√3
ta - 1 1

√3
tan

x
2

+ c

D. tan - 1 1

√3
tan

x
2

+ c

Answer: B

Watch Video Solution

( )
( )

( )
( )

97. Evaluate the following integrals: 

∫
dx

(2sinx + cosx + 3)

A. tan - 1 tan
x
2

+ 1 + c

B. cotx +
1
2

cosecx + c

C. 
1
3

log|2sinx + cosx + 3| + c

D. log|2sinx + cosx + 3| + c

( )

https://dl.doubtnut.com/l/_tm4pdRc7cKp0
https://dl.doubtnut.com/l/_JFBEgBvAGZZ4


Answer: A

Watch Video Solution

98. The value of ∫
dx

x√x4 - 1
 is

A. 
1
2sec - 1x2 + c

B. logx√x4 - 1 + c

C. xlog√x4 - 1 + c

D. log√x4 - 1 + c

Answer: A

Watch Video Solution

99. ∫
x2 - 1

x2 + 1 √x4 + 1
 dx

( )

https://dl.doubtnut.com/l/_JFBEgBvAGZZ4
https://dl.doubtnut.com/l/_tBfN0EDCnKfk
https://dl.doubtnut.com/l/_YlQ9XCxcO1l6


A. 
1

√2
sec - 1 x2 + 1

√2
+ c

B. 
1

√2
sec - 1 x2 + 1

x√2
+ c

C. sec - 1 x2 + 1

x√2
+ c

D. sec - 1 x2 + 1

√2
+ c

Answer: B

Watch Video Solution

( )
( )

( )
( )

100. Evaluate:
∫
sec2x

√tan2x + 4
dx

A. log tanx + √tan2x + 4 + c

B. 
1
2 log tanx + √tan2x + 4 + c

C. log tanx +
1
2√tan2x + 4 + c

D. log tanx - √tan2 + 4 + c

| |
| |

| |
| |

https://dl.doubtnut.com/l/_YlQ9XCxcO1l6
https://dl.doubtnut.com/l/_JZVVIOsy3Xtn


Answer: A

Watch Video Solution

101. ∫√x2 - 8x + 7dx =

A. 
1
2

(x - 4)√x2 - 8x + 7 + 9log x - 4 + √x2 - 8x + 7 + c

B. 
1
2 (x - 4)√x2 - 8x + 7 - 3√2log x - 4 + √x2 - 8x + 7 + c

C. 
1
2

(x - 4)√x2 - 8x + 7 -
9
2

log x - 4 + √x2 - 8x + 7 + c

D. 
1
2

(x - 4)√x2 - 8x + 7 + 3√2log x - 4 + √x2 - 8x + 7 + c

Answer: C

Watch Video Solution

| |
| |

| |
| |

102. ∫
x

√x4 - 4
dx =

https://dl.doubtnut.com/l/_JZVVIOsy3Xtn
https://dl.doubtnut.com/l/_pX5G8GtjJ1Rf
https://dl.doubtnut.com/l/_AHZtvHuFMJOP


A. sin - 1 x2

2
+ c

B. 
1
2

sin - 1 x2

2
+ c

C. 
1
2

sec - 1 x
2

+ c

D. 
1
2

log x2 + √x4 - 4 + c

Answer: D

Watch Video Solution

( )
( )
( )

| |

103. ∫
ex

√e2x + 4ex + 13
dx =

A. log ex + 2 + √e2x + 4ex + 13 + c

B. log e2x + 4 + √e2x + 4ex + 13 + c

C. log ex + 2 + √e2x + 2ex + 13 + c

D. log ex + 4 + √e2x + ex + 13 + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_AHZtvHuFMJOP
https://dl.doubtnut.com/l/_qZwUv7eU0BII


Answer: A

Watch Video Solution

104. ∫
1

√cos2 + cot2x
dx =

A. - log cosx + √1 - cos2x + c

B. - log cosx + √1 + cos2x + c

C. - log sinx + √1 + sin2x + c

D. log √cosec2x + cot2x + c

Answer: B

Watch Video Solution

( )
( )
( )

( )

105. ∫
dx

2x2 + x - 1
 is equal to

https://dl.doubtnut.com/l/_qZwUv7eU0BII
https://dl.doubtnut.com/l/_GBuprWpH7LKw
https://dl.doubtnut.com/l/_zykYHBLeIK1b


A. 
1
3

log
2x - 1

2(x + 1)
+ c

B. 
1
3

log
2x + 1

2(x + 1)
+ c

C. 
1
2

log
3x - 1

2(x + 1)
+ c

D. log
3x - 1

2(x + 1)
+ c

Answer: A

Watch Video Solution

| |
| |
| |

| |

106. ∫
dx

x (logx)2 + 4logx - 1
=

A. 
1
2√5log

logx + 2 - √5

logx + 2 + √5
+ c

B. 
1

√5
log

logx + 2 - √5

logx + 2 + √5
+ c

C. 
1
2√5log

logx + 2 + √5

logx + 2 - √5
+ c

D. 
1

√5
log

logx + 2 + √5

logx + 2 - √5
+ c

[ ]

| |
| |
| |

| |

https://dl.doubtnut.com/l/_zykYHBLeIK1b
https://dl.doubtnut.com/l/_TgoP6ZXqw5kv


Answer: A

Watch Video Solution

107. Evaluate: ∫
1

x2 - 1 √x2 + 1
 dx

A. 
1

2√2
log

√1 + x2 + x√2

√1 + x2 - x√2
+ c

B. 
1

2√2
log

√1 + x2 - √2

√1 + x2 + √2
+ c

C. 
1

2√2
log

√1 + x2 - x√2

√1 + x2 + x√2
+ c

D. 
1

2√2
log

√1 + x2 + √2

√1 + x2 - √2
+ c

Answer: C

Watch Video Solution

( )

| |
| |
| |
| |

https://dl.doubtnut.com/l/_TgoP6ZXqw5kv
https://dl.doubtnut.com/l/_vUxVPvBzHGDO


108. If ∫
(2x + 1)

x4 + 2x3 + x2 - 1
dx = Alog

x2 + x + 1

x2 + x - 1
+ c, then

A. A=1

B. A =
1
2

C. A=-1

D. A = -
1
2

Answer: D

Watch Video Solution

| |

109. ∫
1

sinx√sinx. cosx
dx =

A. √tanx + c

B. -√cotx + c

C. -2√cotx + c

https://dl.doubtnut.com/l/_Ko9lqjOrg6Ax
https://dl.doubtnut.com/l/_xDKVBusi6SFu


D. 2√tanx + c

Answer: C

Watch Video Solution

110. ∫sin3x. √cosxdx =

A. 
2
7 √cosx 7 -

2
3 √cosx 3 + c

B. 
2
5 √cosx 5 -

2
3 √cosx 3 + c

C. 3sin2x√cosx + c

D. - sin2x√cosx + c

Answer: A

Watch Video Solution

( ) ( )

( ) ( )

111. ∫
dx

√x +
3
√x

https://dl.doubtnut.com/l/_xDKVBusi6SFu
https://dl.doubtnut.com/l/_AYB664c2LEcF
https://dl.doubtnut.com/l/_3NxLI3KqAfgQ


A. 
3
√x +

6
√x + log x6 + c

B. 2√x - 3
3
√x + 6

6
√x - 6log

6
√x + 1 + c

C. log √x + 3
√x + c

D. 2√x -
3
√x + 6

6
√x - 6log

6
√x + 1 + c

Answer: B

Watch Video Solution

| |

| |
| |

| |

112. ∫
x5

√1 + x3
dx =

A. 
2
3
√ 1 + x3 + x2 + 2 + c

B. 
2
9
√ 1 + x3 x3 + 4 + c

C. 
2
9√1 + x3 x3 - 2 + c

D. 
2
9
√ 1 + x3 x2 - 2 + c

Answer: C

( ) ( )
( )( )

( )
( )( )

https://dl.doubtnut.com/l/_3NxLI3KqAfgQ
https://dl.doubtnut.com/l/_5t5E3qmlY42c


Watch Video Solution

113. ∫sec6xdx

A. tanx +
1
3

tan3x +
1
5

tan5x + c

B. tanx +
2
3

tan3x +
1
5

tan5x + c

C. tanx +
2
3

tan3x +
2
5

tan5x + c

D. tanx +
1
3

tan3x +
2
5

tan5x + c

Answer: B

Watch Video Solution

114. ∫sec
2
3xcosec

4
3xdx =

A. 3(tanx)
1
3 + c

B. 3(cotx)
- 1
3 + c

C. -3(tanx)
- 1
3 + c

https://dl.doubtnut.com/l/_5t5E3qmlY42c
https://dl.doubtnut.com/l/_1Vl93GtvUJfj
https://dl.doubtnut.com/l/_w9vTmjkKpW4y


D. -3(cotx)
- 1
3 + c

Answer: C

Watch Video Solution

115. If ∫ tan4xdx = Atan3x + Btanx + f(x), then

A. A =
1
2

B. A =
2
3

C. B = 2

D. f(x) = x + c

Answer: D

Watch Video Solution

116. ∫
sin32x

cos52x
dx =

https://dl.doubtnut.com/l/_w9vTmjkKpW4y
https://dl.doubtnut.com/l/_FEaoz9VXfWqb
https://dl.doubtnut.com/l/_I8RgWsmnST0c


A. tan4x + c

B. tan4x + c

C. tan42x + x + c

D. 
1
8

tan42x + c

Answer: D

Watch Video Solution

117. ∫ logxdx = ?

A. xlog
x
e

+ c

B. xlogx + c

C. 
logx
x

+ c

D. xlog
e
x

+ c

Answer: A

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_I8RgWsmnST0c
https://dl.doubtnut.com/l/_GgZVxRRT2nmH


Watch Video Solution

118. If ∫xe2xdx is equal to e2xf(x) + c, where c is constant of integration,

then f(x) is

A. (3x - 1) /4

B. (2x + 1) /2

C. (2x - 1) /4

D. (x - 4) /6

Answer: C

Watch Video Solution

119. Evaluate the following integrals: 

∫x2e3xdx

A. x2e3x + e3xx
3

3
+ c

https://dl.doubtnut.com/l/_GgZVxRRT2nmH
https://dl.doubtnut.com/l/_fk5InHjZ81mK
https://dl.doubtnut.com/l/_zkirKfMpGevt


B. 
1
3
x2e3x +

2
9
e3x + c

C. 
1
3
x2e3x -

2
9
xe3x +

2
27

e3x + c

D. 
1
3
x2e3x +

2
9
xe3x + c

Answer: C

Watch Video Solution

120. ∫x3logxdx =

A. 
x4logx

4
+ c

B. 
1
16

4x4logx - x4 + c

C. 
1
8

x4logx - 4x2 + c

D. 
1
16

4x4logx + x4 + c

Answer: B

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_zkirKfMpGevt
https://dl.doubtnut.com/l/_13uhqsACEStO
https://dl.doubtnut.com/l/_6e0KgeoN4dCo


121. ∫
logx

x3 dx =

A. 
1

4x2 (2logx - 1) + c

B. -
1

4x2 (2logx + 1) + c

C. 
1

4x2 (2logx + 1) + c

D. 
1

4x2 (1 - 2logx) + c

Answer: B

Watch Video Solution

122. Evaluate : ∫xnlogxdx.

A. 
xn+ 1

n + 1
logx +

1
n + 1

+ c

B. 
xn+ 1

n + 1
logx +

2
n + 1

+ c

C. 
xn+ 1

n + 1
2logx -

1
n + 1

+ c

D. 
xn+ 1

n + 1
logx -

1
n + 1

+ c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_6e0KgeoN4dCo
https://dl.doubtnut.com/l/_Q66k0KDs7K9Y


Answer: D

Watch Video Solution

123. ∫ [f(x) + xf′ (x)]dx =

A. x. f(x) + c

B. ex. f(x) + c

C. 
x
f(x)

+ c

D. ex[f(x) + f′ (x)] + c

Answer: A

Watch Video Solution

124. The value of ∫ [f(x)g′ ′ (x) - f′ ′ (x)g(x)]dx is equal to

A. f(x)g′ (x) - f′ (x)g(x) + c

https://dl.doubtnut.com/l/_Q66k0KDs7K9Y
https://dl.doubtnut.com/l/_l4WTTjiWqpKq
https://dl.doubtnut.com/l/_tAuuSvqsLMFT


B. f(x)g′ (x) + f(x)g(x) + c

C. f′ (x)g(x) - f(x)g′ (x) + c

D. none of these

Answer: A

Watch Video Solution

125. If In = ∫xnexdx,  then I5 + 5I4 =

A. 4x4 + ex + c

B. 5x4ex + c

C. x5ex + c

D. x3ex + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tAuuSvqsLMFT
https://dl.doubtnut.com/l/_AVuqyawBnkte
https://dl.doubtnut.com/l/_mvjiGWonEaJx


126. ∫ tan - 1xdx = …. + C

A. xtan - 1x +
1
2

log 1 + x2 + c

B. xtanA - 1x -
1
2

log 1 + x2 + c

C. (x - 1)tan - 1x + c

D. xtan - 1 - log 1 + x2 + c

Answer: B

Watch Video Solution

| |
| |

| |

127. Evaluate : ∫xtan - 1xdx

A. 
1
2

x2 + 1 tan - 1x - x + c

B. 
1
2

x2 + 1 tan - 1x -
x
2

+ c

C. x2 + 1 tan - 1 - x + c

D. x2 + 1 + tan - 1x + x + c

( )
( )

( )
( )

https://dl.doubtnut.com/l/_mvjiGWonEaJx
https://dl.doubtnut.com/l/_hfKiX9T3Ezud


Answer: B

Watch Video Solution

128. If I = ∫ tan - 1 2x

1 - x2 dx, then , I - 2xtan - 1x =

A. log 1 + x2 + c

B. log
2x

1 - x2 + c

C. - log 1 + x2 + c

D. - log 1 - x2 + c

Answer: C

Watch Video Solution

( )
( )

( )
( )
( )

129. ∫x3tan - 1xdx

https://dl.doubtnut.com/l/_hfKiX9T3Ezud
https://dl.doubtnut.com/l/_U7zS1d1dPPXD
https://dl.doubtnut.com/l/_LtCvmvdbouLX


A. x4 - 1 tan - 1x -
x3

3
+ x + c

B. 
1
2

x4 - 1 tan - 1x -
x3

3
+ x + c

C. 
1
4

x4 - 1 tan - 1x -
x3

3
+ x + c

D. 
1
8

x4 - 1 tan - 1x -
x3

3
+ x + c

Answer: C

Watch Video Solution

( )

[( ) ]
[( ) ]
[( ) ]

130. If∫xlog 1 +
1
x

dx = f(x)log(x + 1) + g(x)x2 + Ax + C, 
 then
 f(x) =
1
2
x2

(b) g(x) = logx
A = 1
(d) none of these

A. L = 1

B. f(x) =
x2

2

C. g(x) = logx

D. f(x) =
x2 - 1

2

( )

https://dl.doubtnut.com/l/_LtCvmvdbouLX
https://dl.doubtnut.com/l/_BPdN9jwzpABT


Answer: D

Watch Video Solution

131. If ∫ log x2 + x dx = xlog x2 + x + A, then A=

A. 2x + log|x + 1| + constant

B. 2x - log|x + 1| + constant

C. constant

D. -2x + log|x + 1| + c

Answer: D

Watch Video Solution

( ) ( )

132. ∫sin - 1xdx

A. 
1

√1 - x2
+ c

https://dl.doubtnut.com/l/_BPdN9jwzpABT
https://dl.doubtnut.com/l/_y4bi4fNVqHAe
https://dl.doubtnut.com/l/_CrasZjsnDkLB


B. xsin - 1x - √1 - x2 + c

C. cos - 1x + c

D. xsin - 1x + √1 - x2 + c

Answer: D

Watch Video Solution

133. ∫sin√xdx = ?

A. 2sin√x - 2√xcos√x + c

B. 
3
2

cos√x + c

C. -cos√x
1
2

+ c

D. cos√x(sinx)
3
2 + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_CrasZjsnDkLB
https://dl.doubtnut.com/l/_0TpuOJK5cx6s


134. ∫√xe√xdx =

A. 2√x - e√x - 4√x - e√x + c

B. 2x - 4√x + 4 e√x+ c

C. 2x + 4√x + 4 e√x + c

D. 1 - 4√x e√x + c

Answer: B

Watch Video Solution

( )

( )

( )

135. ∫x5. ex
2
dx =

A. 
1
2
x4. ex

2
- x2. ex

2
+ ex

2
+ c

B. 
1
2
x4. ex

2
+ x2. ex

2
+ ex

2
+ c

C. 
1
4
x4. ex

2
- x2. ex

2
- ex

2
+ c

D. 
1
4
x4. ex

2
+ x2. ex

2
+ ex

2
+ c

https://dl.doubtnut.com/l/_9QoCPen9FT96
https://dl.doubtnut.com/l/_eqvvbpFOYqDS


Answer: A

Watch Video Solution

136. ∫sin(logx)dx =

A. 
1
2
x[cos(logx) - sin(logx)] + c

B. cos(logx) - x + c

C. 
1
2
x[sin(logx) - cos(logx)] + c

D. -cos(logx) + c

Answer: C

Watch Video Solution

137. ∫sinxlog(secx + tanx)dx =

A. x + cosxlog(secx + tanx) + c

https://dl.doubtnut.com/l/_eqvvbpFOYqDS
https://dl.doubtnut.com/l/_9GDw33nhH5dM
https://dl.doubtnut.com/l/_fhGVWyhIsGkc


B. x - cosxlog(secx) + c

C. x - cosxlog(secx + tanx) + c

D. x + cosxlog(secx) + c

Answer: C

Watch Video Solution

138. Evaluate: ∫sin - 1 3x - 4 x3  dx

A. xsin - 1x + √1 - x2 + c

B. xsin - 1 - √1 - x2 + c

C. 2 xsin - 1x + √1 - x2 + c

D. 3 xsin - 1x + √1 - x2 + c

Answer: D

Watch Video Solution

( )

( )
( )

https://dl.doubtnut.com/l/_fhGVWyhIsGkc
https://dl.doubtnut.com/l/_kTxXfeDhjXZH


139. Evaluate: ∫
sin - 1x

1 - x2 3 \ 2
 dx

A. 
x

√1 - x2
sin - 1x +

1
2

log 1 - x2 + c

B. 
x

√1 - x2
sin - 1x -

1
2

log 1 - x2 + c

C. 
1

√1 - x2
sin - 1x -

1
2 log 1 - x2 + c

D. 
1

√1 - x2
sin - 1x +

1
2

log 1 - x2 + c

Answer: A

Watch Video Solution

( )

( )

( )

( )

( )

140. ∫
xtan - 1x

1 + x2
3

2

dx

A. 
x + tan - 1x

√1 + x2
+ c

B. 
x - tan - 1x

√1 + x2
+ c

( )

https://dl.doubtnut.com/l/_qXZnOx2XoDyd
https://dl.doubtnut.com/l/_U6m2qQISXKtu


C. 
tan - 1x - x

√1 + x2
+ c

D. 
1 - tan - 1x

√1 + x2
+ c

Answer: B

Watch Video Solution

141. ∫sec3θdθ =

A. 
1
2

(secθtanθ + log|secθ + tanθ|) + c

B. 
1
2

(secθ + tanθ + log|secθ + tanθ|) + c

C. 
1
4

(secθtanθ + log|secθtanθ|) + c

D. secθtanθ + log|secθtanθ| + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_U6m2qQISXKtu
https://dl.doubtnut.com/l/_oqmTiHoJuiM9


142. ∫ex
x - 1

x2 dx is equal to

A. 
1
x
ex + c

B. xe - x + c

C. 
1

x2 e
x + c

D. x -
1
x

ex + c

Answer: A

Watch Video Solution

( )

( )

143. The value of ∫ex x5 + 5x4 + 1 dx is

A. ex. x5 + c

B. ex. x5 + ex + c

C. ex+ 1. x5 + c

( )

https://dl.doubtnut.com/l/_tloUXo2NOTmf
https://dl.doubtnut.com/l/_IB8ohsHtcPZN


D. 5x4. ex + c

Answer: B

Watch Video Solution

144. ∫ex[tanx - log(cosx)]dx =

A. exlog(secx) + c

B. exlog(cosecx) + c

C. exlog(cosx) + c

D. exlog(sinx) + c

Answer: A

Watch Video Solution

145. ∫ex 1 + tanx + tan2x dx =( )

https://dl.doubtnut.com/l/_IB8ohsHtcPZN
https://dl.doubtnut.com/l/_BrVOI8UdXNFJ
https://dl.doubtnut.com/l/_KYM4bvefWPPq


A. exsinx + c

B. excosx + c

C. extanx + c

D. exsecx + c

Answer: C

Watch Video Solution

146. ∫ex 1 - cotx + cot2x dx =

A. excotx + c

B. excosecx + c

C. -excotx + c

D. -excosecx + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_KYM4bvefWPPq
https://dl.doubtnut.com/l/_dtLZDsIY6rTN


147. ∫
xex

(x + 1)2dx =

A. 
ex

x + 1 + c

B. 
ex

(x + 1)2 + c

C. 
ex

(x + 1)3 + c

D. 
-ex

(x + 1)3 + c

Answer: A

Watch Video Solution

148. 
x + 3

(x + 4)2 e
xdx is equal to

A. 
1

(x + 4)2 + c

B. 
ex

(x + 4)2 + c

C. 
ex

x + 4
+ c

https://dl.doubtnut.com/l/_dtLZDsIY6rTN
https://dl.doubtnut.com/l/_Xf4Sg3XuMmq6
https://dl.doubtnut.com/l/_3SosTlkuNhl0


D. 
ex

x + 3
+ c

Answer: C

Watch Video Solution

149. ∫ex
x2 + 1

(x + 1)2 dx is equal to

A. ex
x - 1
x + 1

+ c

B. ex
x + 1
x - 1

+ c

C. ex(x + 1)(x - 1) + c

D. 
ex

(x + 1)2 + c

Answer: A

Watch Video Solution

( )

( )
( )

https://dl.doubtnut.com/l/_3SosTlkuNhl0
https://dl.doubtnut.com/l/_kGBe0kRgOVBC


150. Evaluate ∫ex
2 + sin2x
1 + cos2x

dx

A. excotx + c

B. -excotx + c

C. -extanx + c

D. extanx + c

Answer: D

Watch Video Solution

151. ∫ex
1 - sinx
1 - cosx

dx =

A. excot
x
2

+ c

B. excotx + c

C. -extan
x
2

+ c

D. extanx + c

( )

https://dl.doubtnut.com/l/_8Wh4qtQ4rN91
https://dl.doubtnut.com/l/_TvHAvFN6vsuh


Answer: A

Watch Video Solution

152. Evaluate: ∫e2x ( - sinx + 2cosx) dx

A. e2xsinx + c

B. -e2xsinx + c

C. -e2xcosx + c

D. e2xcosx + c

Answer: D

Watch Video Solution

153. ∫ logx(logx + 2)dx =

A. x(logx)2 + c

https://dl.doubtnut.com/l/_TvHAvFN6vsuh
https://dl.doubtnut.com/l/_VOxd0t2L2kgt
https://dl.doubtnut.com/l/_Bw9pJAopQCo3


B. x(1 + logx)2 + c

C. x 1 + (logx)2 + c

D. x(1 + logx) + c

Answer: A

Watch Video Solution

[ ]

154. Evaluate ∫
1

logx
-

1

(logx)2 dx

A. 
1

logx
+ c

B. 
x

logx
+ c

C. 
x

(logx)2 + c

D. 
logx
x

+ c

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_Bw9pJAopQCo3
https://dl.doubtnut.com/l/_LSCxqwVxkXFl


155. Evaluate the following integrals: 

∫
logx

(1 + logx)2 dx

A. 
1

1 + logx + c

B. 
x

(1 + logx)2 + c

C. 
x

1 + logx + c

D. 
1

(1 + logx)2 + c

Answer: C

Watch Video Solution

156. ∫ log(logx) +
1

(logx)2 dx = x{f(x) - g(x)} + C, then

A. f(x) = log(logx), g(x) =
1

logx

B. f(x) = logx, g(x) =
1

logx

{ }

https://dl.doubtnut.com/l/_LSCxqwVxkXFl
https://dl.doubtnut.com/l/_2cKTNEcueOKZ
https://dl.doubtnut.com/l/_hAOVX3oKatgs


C. f(x) =
1

logx
, g(x) = log(logx)

D. f(x) =
1

xlogx
, g(x) =

1
logx

Answer: A

Watch Video Solution

157. ∫
1

x2 - x3dx =

A. log
1 - x
x -

1
x + c

B. log
1 - x
x +

1
x + c

C. log
x

1 - x +
1
x + c

D. log
x

1 - x -
1
x + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_hAOVX3oKatgs
https://dl.doubtnut.com/l/_9RhwAavu4p7E
https://dl.doubtnut.com/l/_g8rervhULo39


158. Evaluate: ∫
x2 + x - 1

x2 + x - 6
 dx

A. x + log|x + 3| + log|x - 2| + c

B. x - log|x + 3| + log|x - 2| + c

C. 2x - log|x + 3| - log|x - 2| + c

D. 2x + log|x + 3| - log|x - 2| + c

Answer: B

Watch Video Solution

159. ∫
x

x4 - 1
dx =

A. 
1
4

log
x2 - 1

x2 + 1
+ c

B. 
1
4

log
x2 + 1

x2 - 1
+ c

C. 
1
2

log
x2 - 1

x2 + 1
+ c

| |
| |
| |

https://dl.doubtnut.com/l/_g8rervhULo39
https://dl.doubtnut.com/l/_R1bmFIPOiUgv


D. 
1
2

log
x2 + 1

x2 - 1
+ c

Answer: A

Watch Video Solution

| |

160. ∫
x2

x2 + 2 x2 + 3
dx =

A. -√2tan - 1x + √3tan - 1x + c

B. -√2tan - 1 x

√2
+ √3tan - 1 x

√3
+ c

C. √2tan - 1 x

√2
+ √3tan - 1 x

√3
+ c

D. √2tan - 1x + √3tan - 1x + c

Answer: B

Watch Video Solution

( )( )

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_R1bmFIPOiUgv
https://dl.doubtnut.com/l/_bYMantxWVSXb
https://dl.doubtnut.com/l/_OHbKNf6Bf9OL


161. ∫
dx

x2 - 1 (1 - 2x)
=

A. -
1
2 log|1 - x| -

1
6 log|1 + x| +

2
3 log|1 - 2x| + c

B. 
1
2 log|1 - x| -

1
6 log|1 + x| +

2
3 log|1 - 2x| + c

C. -
1
2 log|1 - x| +

1
6 log|1 + x| +

2
3 log|1 - 2x| + c

D. 
1
2 log|1 - x| +

1
6 log|1 + x| +

2
3 log|1 - 2x| + c

Answer: A

Watch Video Solution

( )

162. ∫
1

x - x3dx =

A. 
1
2

log
1 - x2

x2 + c

B. log
1 - x

x(1 + x)
+ c

C. log x 1 - x2 + c

| |
| |
| ( )|

https://dl.doubtnut.com/l/_OHbKNf6Bf9OL
https://dl.doubtnut.com/l/_VajobeRH4d6F


D. 
1
2

log
x2

1 - x2 + c

Answer: D

Watch Video Solution

| |

163. ∫
ex

1 + ex 2 + ex
dx

A. log 1 + ex 2 + ex + c

B. log
1 + ex

2 + ex
+ c

C. log 1 + ex √2 + ex + c

D. log √1 + ex 2 + ex + c

Answer: B

Watch Video Solution

( )( )

|( ) ( ) |

| |
|( ) |
| ( ) |

https://dl.doubtnut.com/l/_VajobeRH4d6F
https://dl.doubtnut.com/l/_NqQT1ubWe3ZQ
https://dl.doubtnut.com/l/_ubFWBaIhHcOa


164. ∫
dx

ex + 1 - 2e - x =

A. log ex - 1 - log ex + 2 + c

B. 
1
2

log ex - 1 -
1
3

log ex + 2 + c

C. 
1
3

log ex - 1 -
1
3

log ex + 2 + c

D. 
1
3

log ex - 1 +
1
3

log ex + 2 + c

Answer: C

Watch Video Solution

| | | |
| | | |
| | | |
| | | |

165. ∫
a

b + cex
dx =

A. 
a
b

log
ex

b + cex
+ c

B. 
a
b

log
b + cex

ex
+ c

C. 
b
a

log
ex

b + cex
+ c

| |
| |
| |

https://dl.doubtnut.com/l/_ubFWBaIhHcOa
https://dl.doubtnut.com/l/_Tpr8nAlgBNHW


D. 
b
a

log
b + cex

ex
+ c

Answer: A

Watch Video Solution

| |

166. ∫
cosx

(1 + sinx)(2 + sinx)
dx

A. log|(1 + sinx)(2 + sinx)| + c

B. log
2 + sinx
1 + sinx

+ c

C. log
1 + sinx
2 + sinx

+ c

D. log
2 + cosx
1 + sinx

+ c

Answer: C

Watch Video Solution

| |
| |
| |

https://dl.doubtnut.com/l/_Tpr8nAlgBNHW
https://dl.doubtnut.com/l/_7UlUWCLPZj1W


167. ∫
x3 - 1

1 + sinx
dx =

A. x - log|x| +
1
2

log x2 + 1 + tan - 1x + c

B. x - log|x| + log √x2 + 1 - tan - 1x + c

C. x + log|x| + log √x2 + 1 + tan - 1x + c

D. None of these

Answer: B

View Text Solution

| |
| |
| |

168. ∫
2x + 7

(x - 4)2dx =

A. log|x - 4| -
15
x - 4

+ c

B. 2log|x - 4| -
15
x - 4

+ c

C. 2log|x - 4| +
15
x - 4

+ c

D. 2log|x - 4| -
7

x - 4
+ c

https://dl.doubtnut.com/l/_bbXajhHnrcv4
https://dl.doubtnut.com/l/_hHSj06Zhs1hj


Answer: B

Watch Video Solution

169. Evaluate: ∫
x2 + 1

(x - 2)2(x + 3)
 dx

A. 
1
5

log|x - 2| -
1

x - 2
+

2
5

log|x + 3| + c

B. 
3
5

log|x - 2| -
1

x - 2
+

2
5

log|x + 3| + c

C. 
3
5

log|x - 2| +
1

x - 2
+

2
5

log|x + 3| + c

D. 
1
5

log|x - 2| +
1

x - 2
+

2
5

log|x + 3| + c

Answer: B

Watch Video Solution

170. ∫
1

(x - 1) x2 + 1
dx =

A. 
1
2 log(x - 1) -

1
4 log x2 + 1 -

1
2 tan - 1x + c

( )

( )

https://dl.doubtnut.com/l/_hHSj06Zhs1hj
https://dl.doubtnut.com/l/_i1hkwzC2IM5t
https://dl.doubtnut.com/l/_YTs8N6SL9fgI


B. 
1
2

log(x - 1) +
1
4

log x2 + 1 -
1
2

tan - 1x + c

C. 
1
2

log(x - 1) -
1
2

log x2 + 1 -
1
2

tan - 1x + c

D. None of these

Answer: A

Watch Video Solution

( )
( )

171. ∫
dx

1 + x + x2 + x3dx =

A. log √1 + x -
1
2

log √1 + x2 +
1
2

tan - 1x + c

B. log √1 + x - log √1 + x2 + tan - 1x + c

C. log √1 + x2 - log √1 + x +
1
2

tan - 1x + c

D. log √1 + x + tan - 1x + log √1 + x2 + c

Answer: A

Watch Video Solution

| | | |
| | | |
| | | |

| | | |

https://dl.doubtnut.com/l/_YTs8N6SL9fgI
https://dl.doubtnut.com/l/_qUgkePJUjtj4


172. ∫
x4

(x - 1) x2 + 1
dx =

A. 
x(x + 2)

2
+

log|x - 1|
2

-
log x2 + 1

4
-

tan - 1x
2

+ c

B. 
x(x + 2)

2 +
log|x - 1|

2 +
log x2 + 1

4 -
tan - 1x

2 + c

C. 
x(x + 2)

2
+

log|x - 1|
2

+
log x2 + 1

4
+

tan - 1x
2

+ c

D. None of these

Answer: A

Watch Video Solution

( )

| |

| |

| |

173. If ∫
1
f(x)

dx = log[f(x)]2 + c, then f(x) =

A. 2x + α

B. 
x
2

+ α

https://dl.doubtnut.com/l/_iUuRc5CFPBr5
https://dl.doubtnut.com/l/_TYhZ41YfyZgM


C. x + α

D. x2 + α

Answer: B

Watch Video Solution

174. If A =

a 0 0
0 b 0
0 0 c

, a = 7x, b = 77x, c = 777x
, then ∫ |A|dx, where |A| is

the determinant of the matrix A, equals

A. 
77x

(log7)3 + c

B. 
777x

log7
+ c

C. 777x
. (log7)3 + c

D. 
777x

(log7)3 + c

Answer: D

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_TYhZ41YfyZgM
https://dl.doubtnut.com/l/_EbSwtf3H98HS


Watch Video Solution

175. For which of the following functions, the substitution x2 = t is

applicable

A. ∫x6tan - 1x3dx

B. ∫ tan - 1 2x

1 - x2 dx

C. ∫x3cosx2dx

D. None of these

Answer: C

Watch Video Solution

( )

176. ∫ tan - 1 1 - x
1 + x

dx =

A. 
1
2

cos - 1x - √1 - x2 + c

B. 
1
2 xcos - 1x - √1 - x2 + c

√
( )
( )

https://dl.doubtnut.com/l/_EbSwtf3H98HS
https://dl.doubtnut.com/l/_8WFFGxHrhFva
https://dl.doubtnut.com/l/_peUpkJPhSI52


C. 
1
2

xsin - 1x - √1 - x2 + c

D. 2 xcos - 1x - √1 - x2 + c

Answer: B

Watch Video Solution

( )
( )

177. ∫x. sinx. sec3xdx =

A. 
1
2 sec2x - tanx + c

B. 
1
2 xsec2x - tanx + c

C. 
1
2 xsec2x + tanx + c

D. 
1
2 sec2x + tanx + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_peUpkJPhSI52
https://dl.doubtnut.com/l/_gwnV500XtkbB


178. Evaluate: ∫ log(x + 1)dx

A. (x + 1)log(x + 1) - x + c

B. (x + 1)log(x + 1) + x + c

C. (x - 1)log(x + 1) - x + c

D. (x - 1)log(x + 1) + x + c

Answer: A

Watch Video Solution

179. ∫
1

cosx(1 + cosx)
dx =

A. log|secx + tanx| + 2tan
x
2

+ c

B. log|secx + tanx| - 2tan
x
2

+ c

C. log|secx + tanx| + tan
x
2

+ c

D. log|secx + tanx| - tan
x
2

+ c

https://dl.doubtnut.com/l/_9oLEhD6Gewfx
https://dl.doubtnut.com/l/_ZDFLZ9VQb0L2


COMPETITIVE THINKING

Answer: D

Watch Video Solution

1. Evaluate:
∫
dx

√x + √x - 2

A. 
1
3 x3 / 2 - (x - 2)3 / 2 + c

B. 
2
3 x3 / 2 - (x - 2)3 / 2 + c

C. 
1
3 (x - 2)3 / 2 - x3 / 2 + c

D. 
2
3 (x - 2)3 / 2 - x3 / 2 + c

Answer: A

Watch Video Solution

[ ]
[ ]
[ ]
[ ]

2. If ∫ f(x)dx = f(x),  then ∫{f(x)}2dx is equal to

https://dl.doubtnut.com/l/_ZDFLZ9VQb0L2
https://dl.doubtnut.com/l/_6dleJpnQG3Qe
https://dl.doubtnut.com/l/_XmxGJkwx9wbL


A. 
1
2

[f(x)]2

B. [f(x)]3

C. 
[f(x)]3

3

D. [f(x)]2

Answer: A

Watch Video Solution

3. ∫exloga. exdx is equal to

A. (ae)x + c

B. 
(ae)x

log(ae)
+ c

C. 
ex

1 + loga + c

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XmxGJkwx9wbL
https://dl.doubtnut.com/l/_iaHcil26GEOD


4. ∫
e5logx - e4logx

e3logx - e2logxdx =

A. e.3 - 3x + c

B. e3logx + c

C. 
x3

3
+ c

D. None of these

Answer: C

Watch Video Solution

5. The value of ∫
e6logx - e5logx

e4logx - e3logxdx is equal to

A. 
x3

3
+ c

B. 
1
x

+ c

C. 0

https://dl.doubtnut.com/l/_iaHcil26GEOD
https://dl.doubtnut.com/l/_AufVbRJOHYPW
https://dl.doubtnut.com/l/_FzIMl6F0K3DD


D. 
3

x3 + c

Answer: A

Watch Video Solution

6. ∫x51 tan - 1x + cot - 1x dx =

A. 
x52

52 tan - 1x + cot - 1x + c

B. 
x52

52
tan - 1x + cot - 1x + c

C. 
(πx)52

104
+
π
2

+ c

D. 
x52

52
+
π
2

+ c

Answer: A

Watch Video Solution

( )

( )
( )

7. ∫
x + 1

x
1
2

dx =

https://dl.doubtnut.com/l/_FzIMl6F0K3DD
https://dl.doubtnut.com/l/_0BlKZYt03Im9
https://dl.doubtnut.com/l/_WSun34gQNxx5


A. -x
3
2 + x

1
2 + c

B. x
1
2

C. 
2
3
x

3
2 + 2x

1
2 + c

D. x
3
2 + x

1
2 + c

Answer: C

Watch Video Solution

8. ∫
x + 1√1 - x2

x√1 - x2
dx =

A. sin - 1x -
1

x2 + c

B. sin - 1x + logx + c

C. logx + √1 - x2 + c

D. logx ⋅ √1 - x2 + c

Answer: B

https://dl.doubtnut.com/l/_WSun34gQNxx5
https://dl.doubtnut.com/l/_8gXoMyUmLRbt


Watch Video Solution

9. ∫
sin2x

1 + cosx
dx =

A. sinx + C

B. x + sinx + C

C. cosx + C

D. x - sinx + C

Answer: D

Watch Video Solution

10. ∫
1

1 - sinxdx

A. x + cosx + c

B. 1 + sinx + c

C. secx - tanx + c

https://dl.doubtnut.com/l/_8gXoMyUmLRbt
https://dl.doubtnut.com/l/_HBfH8Y9P85Ie
https://dl.doubtnut.com/l/_SRIUhTmIuZXB


D. secx + tanx + c

Answer: D

Watch Video Solution

11. ∫
1

sin2xcos2x
dx = ?

A. tanx + cotx + c

B. cotx - tanx + c

C. tanx - cotx + c

D. None of these

Answer: C

Watch Video Solution

12. ∫
1

sinxcos2x
dx =

https://dl.doubtnut.com/l/_SRIUhTmIuZXB
https://dl.doubtnut.com/l/_TfJ0mZawJ6u9
https://dl.doubtnut.com/l/_73DJGY4Bhedm


A. secx + log|secx + tanx| + c

B. secxtanx + c

C. secx + log|secx - tanx| + c

D. secx + log|cosecx - cotx| + c

Answer: D

Watch Video Solution

13. The value of ∫
1

1 + cos8x
dx is

A. 
tan2x

8
+ c

B. 
tan8x

8
+ c

C. 
tan4x

4
+ c

D. 
tan4x

8
+ c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_73DJGY4Bhedm
https://dl.doubtnut.com/l/_5UGvYpwlNRcN


14. If ∫
sin2x

sin5xsin3xdx 


1 =
1
3

log|sin3x| -
1
5

log|f(x)| + c, then f(x) 


=_______.

A. sin5x

B. sin4x

C. sin2x

D. sin6x

Answer: A

Watch Video Solution

15. ∫
cos2x - cos2α
cosx - cosα

dx

A. 2(sinx + xcosθ) + c

https://dl.doubtnut.com/l/_5UGvYpwlNRcN
https://dl.doubtnut.com/l/_l5hryx9eDPd4
https://dl.doubtnut.com/l/_XRSVI0Z8BBbj


B. 2(sinx - xcosthet) + c

C. 2(sinx + 2xcosθ) + c

D. 2(sinx - 2xcosθ) + c

Answer: A

Watch Video Solution

16. ∫
cosx - 1
cosx + 1

dx =

A. 2tan
x
2

- x + c

B. 
1
2

tan
x
2

- x + c

C. x -
1
2

tan
x
2

+ c

D. x - 2tan
x
2

+ c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XRSVI0Z8BBbj
https://dl.doubtnut.com/l/_qmn6VHAaLPVr
https://dl.doubtnut.com/l/_QpUX4QocpsGD


17. ∫
x + sinx
1 - cosx dx =

A. xtan
x
2 + sec

x
2 + c

B. xsec
x
2 + tan

x
2 + c

C. xsin
x
2 + cos

x
2 + c

D. xtan
x
2 + c

Answer: D

Watch Video Solution

18. ∫ (1 - cosx). cosec2xdx =

A. -2cot
x
2 + c

B. -cot
x
2 + c

C. 2tan
x
2 + c

D. tan
x
2 + c

( )
( )
( )

( )

https://dl.doubtnut.com/l/_QpUX4QocpsGD
https://dl.doubtnut.com/l/_DY5ECJuGjIAD


Answer: D

Watch Video Solution

19. ∫√1 + sin2xdx =

A. - sinx + cosx + c

B. sinx - cosx + c

C. tanx + secx + c

D. sinx + cosx + c

Answer: D

Watch Video Solution

20. ∫ 1 + sin
x
2

dx

A. 
1
4

cos
x
4

- sin
x
4

+ c

√ ( )
( )

https://dl.doubtnut.com/l/_DY5ECJuGjIAD
https://dl.doubtnut.com/l/_hZxcWhVrlrQ0
https://dl.doubtnut.com/l/_ALneOJMJ69tx


B. 4 cos
x
4

- sin
x
4

+ c

C. 4 sin
x
4

- cos
x
4

+ c

D. 4 sin
x
4

+ cos
x
4

+ c

Answer: C

Watch Video Solution

( )
( )
( )

21. If ∫√2√1 + sinxdx = - 4cos(ax + b) + c, then the value of (a,b) is

A. 
1
2

,
π
4

B. 1,
π
2

C. (1, 1)

D. None of these

Answer: A

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_ALneOJMJ69tx
https://dl.doubtnut.com/l/_4fayV2klJwaK


22. If ∫ (sin2x - cos2x)dx =
1

√2
sin(2x - a) + b then

A. a =
π
4 , b = 0

B. a = -
π
4 , b = 0

C. a =
5π
4 ,  b= any constant

D. a = -
5π
4 ,  b=any constant

Answer: D

Watch Video Solution

23. If ∫
1

1 + sinx dx = tan
x
2 + a + b then

A. a =
π
4 , b = 3

B. a = -
π
4 , b = 3

C. a =
π
4 ,  b=arbitrary constant

( )

https://dl.doubtnut.com/l/_4fayV2klJwaK
https://dl.doubtnut.com/l/_UERUjrigLvTX
https://dl.doubtnut.com/l/_x9XdCG9dEM5Y


D. a = -
π
4

,  b=arbitrary constant

Answer: D

Watch Video Solution

24. ∫
cosα

sinxcos(x - α)
dx = _________ + c, where 0 ≤ x ≤ α ≤

π
2

and α is

constant.

A. - log|cotx + tanα|

B. log|cotx + tanα|

C. - log|tanx + cotα|

D. log|tanx + cotα|

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_x9XdCG9dEM5Y
https://dl.doubtnut.com/l/_uWMNJc0QSpmK


25. ∫sec5xtanxdx = ?

A. 
1
4

sec4x + c

B. 4sec4x + c

C. 
sec3

3
+ c

D. 3sec3x + c

Answer: A

Watch Video Solution

26. Let In = ∫ tannxdx, n > 1. I4 _ I6 = atan5x + bx5 + C , where C is a

constant of integration , then the ordered pair ( a , b) is equal to

A. -
1
5

, 0

B. -
1
5

, 1

C. 
1
5

, 0

( )
( )
( )

https://dl.doubtnut.com/l/_MUMsdXnGB2ar
https://dl.doubtnut.com/l/_xF5IdFuQ8dPs


D. 
1
5

, - 1

Answer: C

Watch Video Solution

( )

27. For n ≥ 2, if In = ∫secnxdx, then I4 -
2
3
I2 =

A. sec2xtanx + C

B. 
1
3

sec2xtanx + C

C. 
2
3

sec2xtanx + C

D. 
1
3

log|secc + tanx| + C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xF5IdFuQ8dPs
https://dl.doubtnut.com/l/_QrF8Pf9fnHGx


28. ∫
cos logex

x
dx

A. 
sin(logx)

cosx
+ c

B. sin(logx) + c

C. 
sin(logx)

x
+ c

D. none of these

Answer: B

Watch Video Solution

( )

29. ∫xex
2log2ex

2
dx = ________ + c

A. 
(2e)x

2

log(2e)

B. 
2x

2
. ex

2

1 + log2

C. 
2x

2
. ex

2

2(1 + log2)

https://dl.doubtnut.com/l/_bKvtclVDYhxd
https://dl.doubtnut.com/l/_ae96bDiZAaiZ


D. 
2x

2log2. ex
2

log2

Answer: C

Watch Video Solution

30. Evaluate
: ∫
2x

.
tan

- 1
x

1 + x4 \ dx

A. tan - 1x2 2
+ c

B. 
1
2

tan - 1x2 2
+ c

C. 2 tan - 1x2 2
+ c

D. None of these

Answer: B

Watch Video Solution

[ ]
[ ]
[ ]

31. ∫ ex + e - x 2
⋅ ex - e - x dx is equal to( ) ( )

https://dl.doubtnut.com/l/_ae96bDiZAaiZ
https://dl.doubtnut.com/l/_ckw9RfPOcMzX
https://dl.doubtnut.com/l/_Ds0To4dR0tJv


A. ex + c

B. 
1
2

ex - e - x 2 + c

C. 
1
2

ex + e - x 2 + c

D. 
1
3

ex + e - x 3 + c

Answer: D

Watch Video Solution

( )
( )
( )

32. Evaluate: ∫
1 + tanx

x + logsecx
dx

A. log(x + logsecx) + c

B. - log(x + logsecx) + c

C. log(x - logsecx) + c

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ds0To4dR0tJv
https://dl.doubtnut.com/l/_ReNtKIIP0HMN


33. To find the value of ∫
1 + logx

x dx, the proper substitution is

A. logx = t

B. 1 + logx = t

C. 
1
x = t

D. None of these

Answer: B

Watch Video Solution

34. Evaluate :
∫
sin2x

a2 + b2sin2x
dx

A. 
1

b2 log a2 + b2sin2x + c

B. 
1
b

log a2 + b2sin2x + c

C. log a2 + b2sin2x + c

( )
( )

( )

https://dl.doubtnut.com/l/_ReNtKIIP0HMN
https://dl.doubtnut.com/l/_ExahWhu4QZPE
https://dl.doubtnut.com/l/_0FVVF5m768cx


D. b2log a2 + b2sin2x + c

Answer: A

Watch Video Solution

( )

35. ∫x2secx3dx =

A. log secx3 + tanx3 + c

B. 3 secx3 + tanx3 + c

C. 
1
3

log secx3 + tanx3 + c

D. log(secx + tanx) + c

Answer: C

Watch Video Solution

( )
( )

( )

36. ∫
ex(1 + x)

cos2 xex
dx =

( )

https://dl.doubtnut.com/l/_0FVVF5m768cx
https://dl.doubtnut.com/l/_0JgxjClrSQaD
https://dl.doubtnut.com/l/_B73GvBXEUvuA


A. tan xex + c

B. sec xex tan xex + c

C. - tan xex + c

D. None of these

Answer: A

Watch Video Solution

( )
( ) ( )
( )

37. ∫
1 + x

x + e - xdx is equal to

A. log x - e - x + c

B. log x + e - x + c

C. log 1 + xex + c

D. 1 + xex
2

+ c

Answer: C

Watch Video Solution

| |
| |
| |

( )

https://dl.doubtnut.com/l/_B73GvBXEUvuA
https://dl.doubtnut.com/l/_brwJive71l0J


38. ∫
x2 + 2 a x+ tan - 1x

x2 + 1
dx =

A. loga. ax+ tan - 1x + c

B. 
x + tan - 1x

loga + c

C. 
ax+ tan - 1x

loga
+ c

D. loga. x + tan - 1x + c

Answer: C

Watch Video Solution

( ( ) ( ) )

( )

( )

39. The primitive of 
1

4√x + x
 w.r.t.x is

A. 
1
2 log √x + 4 + c

B. 2log √x + 4 + c

( )

( )

https://dl.doubtnut.com/l/_brwJive71l0J
https://dl.doubtnut.com/l/_nvRymgPLIwjf
https://dl.doubtnut.com/l/_YiT4FuGEAjM8


C. log √x + 4 + c

D. 
1
4

log √x + 4 + c

Answer: B

Watch Video Solution

( )

( )

40. ∫
xsinx

xcosx - sinx - 1
dx = _______ + c

A. - log|xsinx - cosx - 1|

B. log|xsinx - cosx - 1|

C. - log|xcosx - sinx - 1|

D. log|xcosx - sinx - 1|

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YiT4FuGEAjM8
https://dl.doubtnut.com/l/_3sdtA7WpdidD


41. The value of ∫
dx

sinxcosx + 3cos2x
 is

A. log|cosx + 3| + c

B. log|sinx + 3| + c

C. log|tanx + 3| + c

D. log|tanx - 3| + c

Answer: C

Watch Video Solution

42. ∫
cosx

√1 + sinx
dx is equal to

A. sin
x
2

- cos
x
2

+ c

B. sin
x
2

+ cos
x
2

+ c

C. 2 sin
x
2

- cos
x
2

+ c

( ) ( )
( ) ( )

[ ( ) ( )]

https://dl.doubtnut.com/l/_GeSHljoyTPZn
https://dl.doubtnut.com/l/_mFuoA7jVQ2PT


D. 2 sin
x
2

+ cos
x
2

+ c

Answer: D

Watch Video Solution

[ ( ) ( )]

43. The value of ∫
cosec x

cos2 1 + logtan.
x
2

dx is

A. sin2 1 + logtan
x
2 + c

B. tan 1 + logtan
x
2 + c

C. sec2 1 + logtan
x
2 + c

D. - tan 1 + logtan
x
2 + c

Answer: B

Watch Video Solution

( )
( )

( )
( )
( )

https://dl.doubtnut.com/l/_mFuoA7jVQ2PT
https://dl.doubtnut.com/l/_q7hrRhC76Nu6
https://dl.doubtnut.com/l/_g0MtNHkjVsz4


44. ∫
log√x

3x
dx

A. 
1
3

log√x 2 + c

B. 
2
3

log√x 2 + c

C. 
2
3

(logx)2 + c

D. 
1
3

(logx)2 + c

Answer: A

Watch Video Solution

( )

( )

45. ∫
logx - 1

1 + (logx)2

2
 dx is equal to

A. 
logx

1 + (logx)2 + c

B. 
x

x2 + 1
+ c

C. 
x

1 + (logx)2 + c

D. 
-x

(1 + (logx))2 + c

{ }

https://dl.doubtnut.com/l/_g0MtNHkjVsz4
https://dl.doubtnut.com/l/_j1jZrjLqDQYn


Answer: C

Watch Video Solution

46. Evaluate: ∫
√tanx

sinxcosx
dx

A. 2√secx + c

B. 2√tanx + c

C. 
2

√tanx
+ c

D. 
2

√secx
+ c

Answer: B

Watch Video Solution

47. ∫
x3sin tan - 1 x4

1 + x8 dx =
[ ( ) ]

https://dl.doubtnut.com/l/_j1jZrjLqDQYn
https://dl.doubtnut.com/l/_aafRYIENOqdx
https://dl.doubtnut.com/l/_sabUFwRUqT7w


A. 
1
4

cos tan - 1 x4 + c

B. 
1
4

sin tan - 1 x4 + c

C. 
-1
4

cos tan - 1 x4 + c

D. 
1
4

sec tan - 1 x4 + c

Answer: C

Watch Video Solution

[ ( ) ]
[ ( )]
[ ( ) ]

[ ( ) ]

48. ∫cosec4xdx

A. cotx +
cot3x

3
+ c

B. tanx +
tan3x

3
+ c

C. -cotx -
cot3x

3 + c

D. - tanx -
tan3x

3
+ c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_sabUFwRUqT7w
https://dl.doubtnut.com/l/_1xHwbXcrpEyL


49. ∫ (x + 1)(x + 2)7(x + 3)dx is equal to

A. 
(x + 2)10

10
-

(x + 2)8

8
+ c

B. 
(x + 1)2

2
-

(x + 2)8

8
-

(x + 3)2

2
+ c

C. 
(x + 2)10

10
+ c

D. 
(x + 1)2

2 +
(x + 2)8

8 +
(x + 3)2

2 + c

Answer: A

Watch Video Solution

50. ∫secxdx = ?

A. logtan
π
4 +

x
2 + c

B. - log(secx - tanx) + c

C. log(secx - tanx) + c

( )

https://dl.doubtnut.com/l/_1xHwbXcrpEyL
https://dl.doubtnut.com/l/_0wIsU47Razg4
https://dl.doubtnut.com/l/_agOck82J30xw


D. None of these

Answer: B

Watch Video Solution

51. ∫
1 + tanx
1 - tanx

dx

A. logsec
π
4

- x + c

B. logcos
π
4

+ x + c

C. logsin
π
4

+ x + c

D. None of these

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_agOck82J30xw
https://dl.doubtnut.com/l/_vjtHMY2fOa9o


52. ∫
dx

sinx + cosx
=

A. logtan
π
8

+
x
2

+ c

B. logtan
π
8

-
x
2

+ c

C. 
1

√2
logtan

π
8

+
x
2

+ c

D. None of these

Answer: C

Watch Video Solution

( )
( )

( )

53. ∫
1

√1 + sinx
dx =

A. 2√2logtan
π
8

+
x
4

+ c

B. 
1

√2
logtan

π
8

+
x
4

+ c

C. √2logtan
π
8

+
x
4

+ c

( )
( )
( )

https://dl.doubtnut.com/l/_vHR2xPFkEvww
https://dl.doubtnut.com/l/_XswB9S4Ucn5v


D. 
1

2√2
logtan

π
8

+
x
4

+ c

Answer: C

Watch Video Solution

( )

54. The value of √2∫
sinx

sin x -
π
4

dx , is

A. x - log sin x -
π
4

+ c

B. x + log sin x -
π
4

+ c

C. x - log cos x -
π
4

+ c

D. x + log cos x -
π
4

+ c

Answer: B

Watch Video Solution

( )
| ( )|
| ( )|
| ( )|
| ( )|

https://dl.doubtnut.com/l/_XswB9S4Ucn5v
https://dl.doubtnut.com/l/_7ANKM0OeAbw2
https://dl.doubtnut.com/l/_2emfQOrVzV3p


55. ∫{1 + 2tanx(tanx + secx)}1 / 2dx is equal to

A. log(secx + tanx) + c

B. log(secx + tanx)1 / 2 + c

C. logsecx(secx + tanx) + c

D. None of these

Answer: C

Watch Video Solution

56. ∫
dx

ex + e - x

A. tan - 1 e - x + c

B. tan - 1 ex + c

C. log ex - e - x + c

D. log ex + e - x + c

( )
( )

( )
( )

https://dl.doubtnut.com/l/_2emfQOrVzV3p
https://dl.doubtnut.com/l/_QSHpn92c4SQB


Answer: B

Watch Video Solution

57. ∫
1

1 + ex
dx is equal to

A. loge
ex + 1

ex
+ c

B. loge
ex - 1

ex
+ c

C. loge
ex

ex + 1
+ c

D. loge
ex

ex - 1
+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

58. ∫
dx

ex + e - x + 2
 is equal to

https://dl.doubtnut.com/l/_QSHpn92c4SQB
https://dl.doubtnut.com/l/_H7SdMGJNekAV
https://dl.doubtnut.com/l/_3omXyqiIGPGu


A. 
1

ex + 1
+ c

B. 
-1

ex + 1
+ c

C. 
1

1 + e - x + c

D. 
1

e - x - 1
+ c

Answer: B

Watch Video Solution

59. ∫
x

1 + x4  dx

A. 
1
2cot - 1 x2 + c

B. 
1
2 tan - 1 x2 + c

C. cot - 1 x2 + c

D. tan - 1 x2 + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_3omXyqiIGPGu
https://dl.doubtnut.com/l/_iOQXpU6PKwWd


60. If ∫
1

(1 + x)√x
dx = f(x) + A, where A is any arbitrary constant, then the

function f(x) is

A. 2tan - 1x

B. 2tan - 1√x

C. 2cot - 1√x

D. loge(1 + x)

Answer: B

Watch Video Solution

61. ∫
x2

1 + x6dx is equal to

A. tan - 1x2 + c

B. 
2
3

tan - 1x3 + c

https://dl.doubtnut.com/l/_iOQXpU6PKwWd
https://dl.doubtnut.com/l/_RHnLFyPcWeAM
https://dl.doubtnut.com/l/_nQVMnEs0Q5TM


C. 
1
3

tan - 1x3 + c

D. 
1
2

tan - 1x2 + c

Answer: C

Watch Video Solution

62. ∫
x3

1 + x8
dx

A. 4tan - 1 x3 + c

B. 
1
4

tan - 1 x4 + c

C. x + 4tan - 1 x4 + c

D. x2 +
1
4

tan - 1 x4 + c

Answer: B

Watch Video Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_nQVMnEs0Q5TM
https://dl.doubtnut.com/l/_qN9gOxS2SuGP
https://dl.doubtnut.com/l/_1l3m6DEklXEq


63. ∫
1

16x2 + 9
dx is equal to

A. 
1
4 tan - 1 4x

3 + c

B. 
1
12 tan - 1 4x

3 + c

C. 
1
3 tan - 1 4x

3 + c

D. 
1
6 tan - 1 4x

3 + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

64. If ∫
1

√9 - 16x2
dx = αsin - 1(βx) + c, then α +

1
β

=

A. 1

B. 
7
12

C. 
19
12

D. 
9
12

https://dl.doubtnut.com/l/_1l3m6DEklXEq
https://dl.doubtnut.com/l/_7BHV3CEBbhJn


Answer: A

Watch Video Solution

65. if ∫
dx

√16 - 9x2
= Asin - 1(Bx) + C, then A+B=

A. 
9
4

B. 
19
4

C. 
3
4

D. 
13
12

Answer: D

Watch Video Solution

66. ∫
dx

√x10 - x2
= _______ + c, x > 1

https://dl.doubtnut.com/l/_7BHV3CEBbhJn
https://dl.doubtnut.com/l/_EyRJloQsC4UC
https://dl.doubtnut.com/l/_Zri0nnJW4AtU


A. 
1
4

log √x10 - x2 + x2

B. 
1
2

log x10 - x2

C. -
1
4

sec - 1 x4

D. 
1
4

sec - 1 x4

Answer: D

Watch Video Solution

| |
| |

( )
( )

67. ∫
sin2x

sin4x + cos4x
dx

A. cot - 1 tan2x + c

B. tan - 1 tan2x + c

C. cot - 1 cot2x + c

D. tan - 1 cot2x + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_Zri0nnJW4AtU
https://dl.doubtnut.com/l/_5dCFWZZ4Nrjd


68. If ∫
sin2x

sin4x + cos4x
dx = tan - 1[f(x)] + c, then f

π
3

=

A. 1

B. 2

C. 3

D. 
1
3

Answer: C

Watch Video Solution

( )

69. The integral 

∫
sin2xcos2x

sin5x + cos3xsin2x + sin3xcos2x + cos5x
2
dx is equal to 


(where c is a constant of integration)

( )

https://dl.doubtnut.com/l/_5dCFWZZ4Nrjd
https://dl.doubtnut.com/l/_bHcS1sLl1wa8
https://dl.doubtnut.com/l/_1vA5Oa6L1yqY


A. 
-1

3 1 + tan3x
+ c

B. 
1

1 + cot3x
+ c

C. 
-1

1 + cot3x
+ c

D. 
1

3 1 + tan3x
+ c

Answer: A

Watch Video Solution

( )

( )

70. Evaluate: (i) ∫
ax

√1 - a2x
 dx
(ii) ∫

2x

√1 - x2 - x4
 dx

A. 
1

loga sin - 1ax + c

B. sin - 1ax + c

C. 
1

loga cos - 1ax + c

D. cos - 1ax + c

Answer: A

https://dl.doubtnut.com/l/_1vA5Oa6L1yqY
https://dl.doubtnut.com/l/_uVs59XqlkC8n


Watch Video Solution

71. ∫
1

√8 + 2x - x2
dx =

A. 
1
3sin - 1 x - 1

3 + c

B. sin - 1 x + 1
3 + c

C. 
1
3sin - 1 x + 1

3 + c

D. sin - 1 x - 1
3 + c

Answer: D

Watch Video Solution

( )
( )
( )

( )

72. ∫
1

√1 - 6x - 9x2
dx is equal to

A. sin - 1 3x + 1
2

+ c( )

https://dl.doubtnut.com/l/_uVs59XqlkC8n
https://dl.doubtnut.com/l/_mUiwJYLUcVb5
https://dl.doubtnut.com/l/_nC7l50LBgJS1


B. sin - 1 3x + 1
6

+ c

C. 
1
3

sin - 1 3x + 1

√2
+ c

D. sin - 1 2x + 1
3

+ c

Answer: C

Watch Video Solution

( )
( )

( )

73. If I = ∫
dx

√(1 - x)(x - 2)
, then I is equal to

A. sin - 1(2x - 3) + C

B. sin - 1(2x + 5) + C

C. sin - 1(3 - 2x) + C

D. sin - 1(5 - 2x) + C

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nC7l50LBgJS1
https://dl.doubtnut.com/l/_dk4AoIewtvJv


74. If ∫
x - 5
x - 7dx = A√x2 - 12x + 35 + log x - 6 + √x2 - 12x + 35 + C, then

A. -1

B. 
1
2

C. -
1
2

D. 1

Answer: D

Watch Video Solution

√ | |

75. ∫√x2 + 2x + 5dx is equal to

A. 
1
2

(x + 1)√x2 + 2x + 5 + 2log x + 1 + √x2 + 2x + 5 + c

B. (x + 1)√x2 + 2x + 5 + 2log x + 1 + √x2 + 2x + 5 + c

C. (x + 1)√x2 + 2x + 5 - 2log x + 1 + √x2 + 2x + 5 + c

| |
| |
| |

https://dl.doubtnut.com/l/_dk4AoIewtvJv
https://dl.doubtnut.com/l/_4abL0C0y23pZ
https://dl.doubtnut.com/l/_CNvEsm3FUVL0


D. (x + 1)√x2 + 2x + 5 +
1
2

log x + 1 + √x2 + 2x + 5 + c

Answer: A

Watch Video Solution

| |

76. ∫
sec8x
cosecx

dx =

A. 
sec8x

8
+ c

B. 
sec7x

7
+ c

C. 
sec6x

6 + c

D. 
sec9x

9
+ c

Answer: B

Watch Video Solution

77. ∫
dx

5 + 4cosx

https://dl.doubtnut.com/l/_CNvEsm3FUVL0
https://dl.doubtnut.com/l/_Kon62zkRTB85
https://dl.doubtnut.com/l/_GUjUySPG7CFv


A. 
2
3

tan - 1 1
3

tanx + c

B. 
1
3

tan - 1 1
3

tanx + c

C. 
2
3

tan - 1 1
3

tan
x
2

+ c

D. 
1
3

tan - 1 1
3

tan
x
2

+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

78. ∫
1

7 + 5cosx
dx =

A. 
1

√6
tan - 1 1

√6
tan

x
2

+ c

B. 
1

√3
tan - 1 1

√3
tan

x
2

+ c

C. 
1
4

tan - 1 tan
x
2

+ c

D. 
1
7

tan - 1 tan
x
2

+ c

( )
( )

( )
( )

https://dl.doubtnut.com/l/_GUjUySPG7CFv
https://dl.doubtnut.com/l/_OpENkLWMPTsA


Answer: A

Watch Video Solution

79. ∫
dx

1 + 3sin2x
.

A. 
1
3 tan - 1 3tan2x + c

B. 
1
2 tan - 1(2tanx) + c

C. tan - 1(tanx) + c

D. None of these

Answer: B

Watch Video Solution

( )

80. If ∫
5tanx

tanx - 2
dx = x + a In(sinx - 2cosx) + k then a =

A. -1

https://dl.doubtnut.com/l/_OpENkLWMPTsA
https://dl.doubtnut.com/l/_5f3m8LRHIOHa
https://dl.doubtnut.com/l/_OQCJwGFcm43W


B. -2

C. 1

D. 2

Answer: D

Watch Video Solution

81. ∫
sinx

sinx - cosx
dx =

A. 
1
2

log(sinx - cosx) + x + c

B. 
1
2

[log(sinx - cosx) + x] + c

C. 
1
2

log(cosx - sinx) + x + c

D. 
1
2

[log(cosx - sinx) + x] + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OQCJwGFcm43W
https://dl.doubtnut.com/l/_5yWVHoJXRkOZ
https://dl.doubtnut.com/l/_izu5IXTlVEAl


82. 
4ex - 25

2ex - 5

A. A=5, B=3

B. A=5, B=-3

C. A=-5, B=3

D. A=-5, B=-3

Answer: B

Watch Video Solution

83. ∫
dx

sin(x - a)sin(x - b)

A. 
1

sin(a - b) log
sin(x - a)
sin(x - b) + c

B. -
1

sin(a - b) log
sin(x - a)
sin(x - b) + c

C. logsin(x - a)sin(x - b) + c

D. log
sin(x - a)
sin(x - b) + c

| |
| |

| |

https://dl.doubtnut.com/l/_izu5IXTlVEAl
https://dl.doubtnut.com/l/_0cw5RnYqsZsV


Answer: A

Watch Video Solution

84. ∫√ex - 1dx

A. 2 √ex - 1 - tan - 1√ex - 1 + c

B. √ex - 1 - tan - 1√ex - 1 + c

C. √ex - 1 + tan - 1√ex - 1 + c

D. 2 √ex - 1 + tan - 1√ex - 1 + c

Answer: A

Watch Video Solution

[ ]

[ ]

85. The value of the integral ∫
dx

ex + e - x
 is

( )

https://dl.doubtnut.com/l/_0cw5RnYqsZsV
https://dl.doubtnut.com/l/_HNE6H3wbQU7q
https://dl.doubtnut.com/l/_ZI31liGoYrwI


A. 
1

2 e2x + 1
+ c

B. 
-1

2 2ex + 1
+ c

C. 
1

3 e2x + 1
+ c

D. 
-1

e2x + 1
+ c

Answer: B

Watch Video Solution

( )

( )

( )

86. ∫
dx

√1 - e2x
 is equal to

A. x - log 1 + √1 - e2x + c

B. x + log 1 + √1 - e2x + c

C. log 1 + √1 - e2x - x + c

D. None of these

[ ]
[ ]

[ ]

https://dl.doubtnut.com/l/_ZI31liGoYrwI
https://dl.doubtnut.com/l/_AZiRmuhsm3Oe


Answer: A

Watch Video Solution

87. Evaluate: ∫
1 + x2

√1 - x2
 dx

A. 
3
2

sin - 1x -
1
2
x√1 - x2 + c

B. 
3
2

sin - 1x +
1
2
x√1 - x2 + c

C. 
3
2

cos - 1x -
1
2
x√1 - x2 + c

D. 
3
2

cos - 1x +
1
2
x√1 - x2 + c

Answer: A

Watch Video Solution

88. The integral ∫
dx

x2 x4 + 1 3 / 4
 equal

( )

https://dl.doubtnut.com/l/_AZiRmuhsm3Oe
https://dl.doubtnut.com/l/_ygpCJzRbTcub
https://dl.doubtnut.com/l/_ZGxVcyGH8F94


A. 
x4 + 1

x4

1
4

+ c

B. x4 + 1
1
4 + c

C. - x4 + 1
1

4 + c

D. -
x4 + 1

x4

1
4

+ c

Answer: D

Watch Video Solution

( )
( )
( )

( )

89. ∫
2x12 + 5x9

x5 + x3 + 1 3
dx =

A. 
x10

2 x5 + x3 + 1 2
+ C

B. 
x5

2 x5 + x3 + 1 2
+ C

C. 
-x10

2 x5 + x3 + 1 2
+ C

( )

( )

( )

( )

https://dl.doubtnut.com/l/_ZGxVcyGH8F94
https://dl.doubtnut.com/l/_v05Mgw998YLE


D. 
-x5

x5 + x3 + 1 2
+ C

Answer: A

Watch Video Solution

( )

90. The value of integral 

∫
1

(x - 3)3(x + 2)5 1 / 4
dx is

A. 
4
3

x - 1
x + 2

1 / 4
+ c

B. 
4
3

x + 1
x + 2

1 / 4
+ c

C. 
4
3

x + 1
x - 2

1 / 4
+ c

D. 
4
3

x - 1
x - 2

1 / 4
+ c

Answer: A

Watch Video Solution

[ ]

( )
( )
( )
( )

https://dl.doubtnut.com/l/_v05Mgw998YLE
https://dl.doubtnut.com/l/_m98acRBEm0Tn


91. The value of ∫
(x - 2)dx

(x - 2)2(x + 3)7 1 / 3
 is

A. 
3
20

x - 2
x + 3

4 / 3
+ c

B. 
3
20

x - 2
x + 3

3 / 4
+ c

C. 
5
12

x - 2
x + 3

4 / 3
+ c

D. 
3
20

x - 2
x + 3

5 / 3
+ c

Answer: A

Watch Video Solution

{ }

( )
( )
( )
( )

92. If I = ∫
sin2x

(3 + 4cosx)3dx , then I=

A. 
3cosx + 8

(3 + 4cosx)2 + C

B. 
3 + 8cosx

16(3 + 4cosx)2 + C

C. 
3 + cosx

(3 + 4cosx)2 + C

https://dl.doubtnut.com/l/_YC8AFK2Ns3ps
https://dl.doubtnut.com/l/_hOkKBSdfNK9x


D. 
3 - 8cosx

16(3 + 4cosx)2 + C

Answer: B

Watch Video Solution

93. ∫
dx

cosx√1 + cos2x + sin2x
= ________ + c, 0 < x <

π
4

A. 2 + √cotx

B. √tanx + 1

C. √2 + 2tanx

D. √2 + 2cotx

Answer: C

Watch Video Solution

( )

94. ∫
(sinθ + cosθ)

√sin2θ
dθ =

https://dl.doubtnut.com/l/_hOkKBSdfNK9x
https://dl.doubtnut.com/l/_tJZ3O8iIc0lU
https://dl.doubtnut.com/l/_VVqmQMO3T35A


A. log cosθ - sinθ + √sin2θ + c

B. log sinθ - cosθ + √sin2θ + c

C. sin - 1(sinθ - cosθ) + c

D. sin - 1(sinθ + cosθ) + c

Answer: C

Watch Video Solution

| |

| |

95. ∫
1

a2 + x2 3 / 2
dx is equal to

A. 
x

a2 + x2 1 / 2

B. 
x

a2 a2 + x2 1 / 2

C. 
1

a2 a2 + x2 1 / 2

D. None of these

( )

( )

( )

( )

https://dl.doubtnut.com/l/_VVqmQMO3T35A
https://dl.doubtnut.com/l/_IdnrpaONTUg7


Answer: B

Watch Video Solution

96. ∫
1

a + bex
dx =

A. 
1
b log a + bex + c

B. -
1
b log a + bex + c

C. -
1
b log aex + 1 + c

D. 
1
a

log
ex

a + bex
+ c

Answer: D

Watch Video Solution

| |
| |
| |

| |

97. ∫
xe - 1 + ex - 1

xe + ex
dx

https://dl.doubtnut.com/l/_IdnrpaONTUg7
https://dl.doubtnut.com/l/_JqWJTS8YFlit
https://dl.doubtnut.com/l/_MLIHxqhr0kVE


A. 
1
e

log xe + ex + c

B. elog xe + ex + c

C. 
-1
e

log xe + ex + c

D. -elog xe + ex + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

98. ∫ x2 + 1 √x + 1dx is equal to

A. 
(x + 1)7 / 2

7 -
2(x + 1)5 / 2

5 +
2(x + 1)3 / 2

3 + c

B. 2
(x + 1)7 / 2

7
-

2(x + 1)5 / 2

5
+

2(x + 1)3 / 2

3
+ c

C. 
(x + 1)7 / 2

7
-

2(x + 1)5 / 2

5
+ c

D. 
(x + 1)7 / 2

7
-

3(x + 1)5 / 2

5
+ 11(x + 1)5 / 2 + c

Answer: B

( )

[ ]

https://dl.doubtnut.com/l/_MLIHxqhr0kVE
https://dl.doubtnut.com/l/_3xfIz9oZd2V8


Watch Video Solution

99. ∫
x3dx

x2 + 1 3
 is equal to

A. 
1
4

2x2 + 1

x2 + 1 2
+ K

B. -
1
4

2x2 + 1

x2 + 1
2

+ K

C. 
1
3

2x2 + 1

x2 + 1
2

+ K

D. -
1
3

2x2 + 1

x2 + 1
2

+ K

Answer: B

Watch Video Solution

( )

[ ( ) ]
[ ( ) ]

[ ( ) ]
[ ( ) ]

https://dl.doubtnut.com/l/_3xfIz9oZd2V8
https://dl.doubtnut.com/l/_N866EVWkElyH


100. ∫
x2 - 1

x4 + 3x2 + 1
dx(x > 0) is

A. tan - 1 x +
1
x

+ c

B. tan - 1 x -
1
x

+ c

C. loge

x +
1

x - 1

x +
1
x + 1

+ c

D. loge

x -
1

x - 1

x -
1
x + 1

+ c

Answer: A

Watch Video Solution

( )
( )

( )
( )

101. ∫
2 - sinx
2 + cosx

dx =

A. -
4

√3
tan - 1 tan(x /2)

√3
+ log(2 + cosx) + c( )

https://dl.doubtnut.com/l/_7ViDirYjO7xG
https://dl.doubtnut.com/l/_IR7yL2HPY11Z


B. 
4

√3
tan - 1 tan(x /2)

√3
+ log(2 + cosx) + c

C. 
4

√3
tan - 1 tan(x /2)

√3
- log(2 + cosx) + c

D. 0

Answer: B

Watch Video Solution

( )
( )

102. Let ∫
x2

√1 - x
dx = p√(1 - x) 3x2 + 4x + 8 ,  then value of p is

A. 
-2
15

B. 
-1
15

C. 
2
15

D. 
1
15

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_IR7yL2HPY11Z
https://dl.doubtnut.com/l/_FLQ1bAyJfPou


103. Let f(x) = ∫
x2

1 + x2 1 + √1 + x2

dx and f(0) = 0 then f(1) is

A. log 1 + √2

B. log 1 + √2 -
π
4

C. log 1 + √2 +
π
2

D. None of these

Answer: B

Watch Video Solution

( )( )
( )

( )

( )

104. If I = ∫
ex

e4x + e2e + 1
dx. J = ∫

e - x

e - 4x + e - 2x + 1
dx.  Then for an arbitrary

constant c, the value of J - I equal to

A. 
1
2

log
e4x - e2x + 1

e4x + e2x + 1
+ C| |

https://dl.doubtnut.com/l/_FLQ1bAyJfPou
https://dl.doubtnut.com/l/_i7qhc0r3rCKw
https://dl.doubtnut.com/l/_5NMS6yFBoup0


B. 
1
2

log
e2x + ex + 1

e2x - ex + 1
+ C

C. 
1
2

log
e2x - ex + 1

e2x + ex + 1
+ C

D. 
1
2

log
e4x + e2x + 1

e4x - e2x + 1
+ C

Answer: C

Watch Video Solution

| |
| |
| |

105. The integral ∫
sec2x

(secx + tanx)
9
2

dx equals to (for some arbitrary constant

K) (A) -
1

(secx + tanx)
11
2

1
11

-
1
7

(secx + tanx)2 + K (B) 

1

(secx + tanx)
11
2

1
11

-
1
7

(secx + tanx)2 + K (C) 

-
1

(secx + tanx)
11

2

1
11 +

1
7(secx + tanx)2 + K (D) 

1

(secx + tanx)
11

2

1
11

+
1
7

(secx + tanx)2 + K

{ }
{ }
{ }

{ }

https://dl.doubtnut.com/l/_5NMS6yFBoup0
https://dl.doubtnut.com/l/_JdbaQvJGZeS6


A. 
-1

(secx + tanx)11 / 2

1
11

-
1
7

(secx + tanx)2 + K

B. 
1

(secx + tanx)11 / 2

1
11

-
1
7

(secx + tanx)2 + K

C. 
-1

(secx + tanx)11 / 2

1
11

+
1
7

(secx + tanx)2 + K

D. 
1

(secx + tanx)11 / 2

1
11

+
1
7

(secx + tanx)2 + K

Answer: C

Watch Video Solution

{ }
{ }
{ }
{ }

106. If f(x) = x and g(x) = sinx, then 


∫ f(x) ⋅ g(x)dx =

A. -cosx + c

B. cosx + c

C. -xcosx + sinx + c

D. -xcosx - sinx + c

https://dl.doubtnut.com/l/_JdbaQvJGZeS6
https://dl.doubtnut.com/l/_1KrqkxFNzAer


Answer: C

Watch Video Solution

107. If ∫xsinxdx = - xcosx + A, then A =

A. sinx + constant

B. cosx + constant

C. constant

D. None of these

Answer: A

Watch Video Solution

108. ∫ log10xdx =

A. xlog10x + c

https://dl.doubtnut.com/l/_1KrqkxFNzAer
https://dl.doubtnut.com/l/_zUavAxymCOS7
https://dl.doubtnut.com/l/_AZQaSh8XFKvh


B. x log10x + log10e + c

C. log10x + c

D. x log10x - log10e + c

Answer: D

Watch Video Solution

( )

( )

109. ∫x2sin2xdx

A. 
1
2
x2cos2x +

1
2
xsin2x +

1
4

cos2x + c

B. -
1
2
x2cos2x +

1
2
xsin2x +

1
4

cos2x + c

C. 
1
2
x2cos2x -

1
2
xsin2x +

1
4

cos2x + c

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AZQaSh8XFKvh
https://dl.doubtnut.com/l/_b9jaz6XQ53aq
https://dl.doubtnut.com/l/_xQmHeJ1Y0tV1


110. Evaluate the following integrals: 

∫xsin2xdx

A. 
x2

4
+
x
4

sin2x +
1
8

cos2x + c

B. 
x2

4
-
x
4

sin2x +
1
8

cos2x + c

C. 
x2

4 +
x
4sin2x -

1
8cos2x + c

D. 
x2

4
-
x
4

sin2x -
1
8

cos2x + c

Answer: D

Watch Video Solution

111. ∫xcos2xdx =

A. 
x2

4
-

1
4
xsin2x -

1
8

cos2x + c

B. 
x2

4
+

1
4
xsin2x +

1
8

cos2x + c

C. x4 -
1
4
xsin2x +

1
8

cos2x + c

https://dl.doubtnut.com/l/_xQmHeJ1Y0tV1
https://dl.doubtnut.com/l/_u03cuUGuC8EE


D. x4 +
1
4
xsin2x -

1
8

cos2x + c

Answer: B

Watch Video Solution

112. Which of the following is the primitive of cos - 1x?

A. xcos - 1x - √1 - x2 + c

B. xcos - 1x + √1 - x2 + c

C. xcos - 1x - sin - 1x + c

D. -
1

√1 - x2 + c

Answer: A

Watch Video Solution

113. ∫ [sin(logx) + cos(logx)]dx

https://dl.doubtnut.com/l/_u03cuUGuC8EE
https://dl.doubtnut.com/l/_6dOGA5532bkj
https://dl.doubtnut.com/l/_mTkLnXAVGOHk


A. xcos(logx) + c

B. sin(logx) + c

C. cos(logx) + c

D. xsin(logx) + c

Answer: D

Watch Video Solution

114. ∫
(sinx + cosx)(2 - sin2x)

sin22x
dx =

A. 
sinx + cosx

sin2x + c

B. 
sinx - cosx

sin2x + c

C. 
sinx

sinx + cosx + c

D. 
sinx

sinx - cosx + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mTkLnXAVGOHk
https://dl.doubtnut.com/l/_p4EH2BZOTRNw


115. ∫esinx(xcosx - secxtanx)dx = ______ + c, 0 < x <
π
2

A. esinx(x - secx)

B. esinx(secx - x)

C. esinxxcosx

D. esinx(x + secx)

Answer: A

Watch Video Solution

116. If ∫esinx xcos3x - sinx

cos2x
dx = esinxf(x) + c, 


where c is constant of integration, then f(x)=`

A. secx - x

B. x - secx

( )

https://dl.doubtnut.com/l/_p4EH2BZOTRNw
https://dl.doubtnut.com/l/_u8terlpVWqmB
https://dl.doubtnut.com/l/_cpvC00fggSZm


C. tanx - x

D. x - tanx

Answer: B

Watch Video Solution

117. ∫sin(11x). sin9xdx = _______ + c.

A. 
sin(10x) ⋅ sin10x

10

B. 
sin11x

11

C. 
sin(9x) ⋅ sin9x

9

D. 
cos(10x) ⋅ cos10x

10

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cpvC00fggSZm
https://dl.doubtnut.com/l/_jbKbJY9Celyg


118. If ∫e2xf′ (x)dx = g(x), then 


∫ e2xf(x) + e2xf′ (x) dx =

A. 
1
2

e2xf(x) - g(x) + c

B. 
1
2

e2xf(x) - g(x) + c

C. 
1
2

e2xf(2x) + g(x) + c

D. 
1
2

e2xf′ (2x) + g(x) + c

Answer: B

Watch Video Solution

[ ]

[ ]
[ ]
[ ]
[ ]

119. ∫e√xdx is equal to 


(A is an arbitrary constant)

A. e√x + A

B. 
1
2
e√x + A

C. 2 √x - 1 e√x + A( )

https://dl.doubtnut.com/l/_1HICdpzQ748R
https://dl.doubtnut.com/l/_0N18ogT48m84


D. 2 √x + 1 e√x + A

Answer: C

Watch Video Solution

( )

120. ∫cos(logx)dx = F(x) + c, where c is an arbitrary constant. Here F(x)=

A. x[cos(logx) + sin(logx)]

B. x[cos(logx) - sin(logx)]

C. 
x
2

[cos(logx) + sin(logx)]

D. 
x
2

[cos(logx) - sin(logx)]

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0N18ogT48m84
https://dl.doubtnut.com/l/_IhZ95IUjELC5


121. Evaluate the following integrals: 

∫
xsin - 1x

√1 - x2
dx

A. x - √1 - x2sin - 1x + c

B. x + √1 - x2sin - 1x + c

C. √1 - x2sin - 1x - x + c

D. None of these

Answer: A

Watch Video Solution

122. The integral ∫cos logex dx is equal to: (where C is a constant of

integration)

A. 
1
2
x cos logex + sin logex + c

B. x cos logex + sin logex + c

( )

[ ( ) ( )]
[ ( ) ( )]

https://dl.doubtnut.com/l/_W21GnRv2NgDL
https://dl.doubtnut.com/l/_4LeCHstMzJ5x


C. 
1
2
x cos logex - sin logex + c

D. x cos logex - sin logex + c

Answer: A

Watch Video Solution

[ ( ) ( )]
[ ( ) ( )]

123. ∫32x3(logx)2 dx is equal ot

A. x4 8(logx)2 - 4(logx) + 1 + c

B. x3 (logx)2 + 2logx + c

C. x4 8(logx)2 - 4logx + c

D. 8x4(logx)2 + c

Answer: A

Watch Video Solution

{ }
{ }
{ }

https://dl.doubtnut.com/l/_4LeCHstMzJ5x
https://dl.doubtnut.com/l/_n3NdzrwYOm9R


124. ∫x4e2xdx =

A. 
e2x

4
2x4 - 4x3 + 6x2 - 6x + 3 + c

B. 
e2x

2
2x4 - 4x3 + 6x2 - 6x + 3 + c

C. 
e2x

8 2x4 - 4x3 + 6x2 + 6x + 3 + c

D. -
e2x

4
2x4 - 4x3 + 6x2 + 6x + 3 + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

125. If ∫x3e5xdx -
e5x

54 (f(x)) + 03 then f(x) =

A. 
x3

5
-

3x2

52 +
6x

53 -
6

54

B. 5x3 - 52x2 + 53x - 6

C. 52x3 - 15x2 + 30x - 6

D. 53x3 - 75x2 + 30x - 6

https://dl.doubtnut.com/l/_hGZMhZxn1CEb
https://dl.doubtnut.com/l/_yjZg8VDNi9A4


Answer: D

Watch Video Solution

126. If ∫ log a2 + x2 dx = h(x) + c, then h(x)=

A. xlog a2 + x2 + 2tan - 1 x
a

+ c

B. x2log a2 + x2 + x + atan - 1 x
a

+ c

C. xlog a2 + x2 - 2x + 2atan - 1 x
a

+ c

D. x2log a2 + x2 + 2x - a2tan - 1 x
a

+ c

Answer: C

Watch Video Solution

( )

( ) ( )
( ) ( )

( ) ( )
( ) ( )

127. For x > 0, if 


∫ (logx)5dx = x A(logx)5 + B(logx)4 + C(logx)3 + D(logx)2 + E(logx) + F[ ]

https://dl.doubtnut.com/l/_yjZg8VDNi9A4
https://dl.doubtnut.com/l/_K00V33lZgRvH
https://dl.doubtnut.com/l/_nzw5fAIUhgLc


+constant, 

then A+B+C+D+E+F =

A. -44

B. -42

C. -40

D. -36

Answer: A

Watch Video Solution

128. ∫cos - 1 1
x

dx

A. xsec - 1x - log √ x2 - 1 + x + c

B. sec - 1x - xlog √ x2 - 1 + x + secx + c

C. xsec - 1x + x2log √ x2 - 1 + x + c

D. xsec - 1x + log √ x2 - 1 + x + x + c

( )
| ( ) |
| ( ) |

| ( ) |
| ( ) |

https://dl.doubtnut.com/l/_nzw5fAIUhgLc
https://dl.doubtnut.com/l/_1rjQ99Kwsuf4


Answer: A

Watch Video Solution

129. ∫ex
1 + xlogx

x
dx = ?

A. ex + logx + c

B. 
ex

logx
+ c

C. ex - logx + c

D. exlogx + c

Answer: D

Watch Video Solution

( )

130. निम्नलिखित समाकलनों के  मान ज्ञात कीजिए- 

∫exsinx(sinx + 2cosx)dx

https://dl.doubtnut.com/l/_1rjQ99Kwsuf4
https://dl.doubtnut.com/l/_VRxKndsMI3nS
https://dl.doubtnut.com/l/_78uf2WIp62zh


A. exsin2x + c

B. exsinx + c

C. exsin2x + c

D. None of these

Answer: A

Watch Video Solution

131. Evaluate ∫ex
2 + sin2x
1 + cos2x

dx

A. extanx + c

B. ex + tanx + c

C. 2extanx + c

D. extan2x + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_78uf2WIp62zh
https://dl.doubtnut.com/l/_XcKgj1reHjZ5


132. 
x + 3

(x + 4)2 e
xdx is equal to

A. 
1

(x + 4)2 + c

B. 
ex

(x + 4)2 + c

C. 
ex

(x + 4)
+ c

D. 
ex

(x + 3)
+ c

Answer: C

Watch Video Solution

133. ∫
x + 2
x + 4

2
exdx

A. ex
x

x + 4
+ c

B. ex
x + 2
x + 4

+ c

( )
( )
( )

https://dl.doubtnut.com/l/_XcKgj1reHjZ5
https://dl.doubtnut.com/l/_dae3ZyGasBvH
https://dl.doubtnut.com/l/_bSgiBtb0fmFj


C. ex
x - 2
x + 4

+ c

D. 
2xex

x + 4
+ c

Answer: A

Watch Video Solution

( )
( )

134. Evaluste ∫
xex

(1 + x)2dx

A. 
ex

1 + x
+ c

B. 
ex

1 + ex
+ c

C. 
e2x

1 + ex
+ c

D. 
e - x

1 + x
+ c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bSgiBtb0fmFj
https://dl.doubtnut.com/l/_qrkPO1Qob2uK
https://dl.doubtnut.com/l/_HLOaU3LesOC2


135. The value of ∫ex
1 + sinx
1 + cosx

dx is equal to

A. ex + c

B. extan
x
2

+ c

C. exsinx + c

D. tan
x
2

+ c

Answer: B

Watch Video Solution

[ ]

( )

( )

136. The value of ∫
ex x2tan - 1x + tan - 1x + 1

x2 + 1
dx is equal to

A. tan - 1 ex + c

B. etan - 1x + c

C. extan - 1x + c

( )

( )

https://dl.doubtnut.com/l/_HLOaU3LesOC2
https://dl.doubtnut.com/l/_oiHSFCbF9Soz


D. tan - 1 xe + c

Answer: C

Watch Video Solution

( )

137. ∫etanx sec2x + sec3xsinx dx is equal to

A. secx ⋅ tanx ⋅ ex + c

B. tanx ⋅ etanx + c

C. sec2x ⋅ etanx + c

D. tan2x ⋅ etanx + c

Answer: B

Watch Video Solution

( )

138. ∫esinx sinx + 1
secx

dx is equal to( )

https://dl.doubtnut.com/l/_oiHSFCbF9Soz
https://dl.doubtnut.com/l/_dliRJebCt5tk
https://dl.doubtnut.com/l/_9w3gGtMabA3O


A. sinx. esinx + c

B. cosx. esinx + c

C. esinx + c

D. esinx(sinx + 1) + c

Answer: A

Watch Video Solution

139. ∫etan - 1x 1 +
x

1 + x2 dx is equal to

A. xetan - 1x + c

B. x2etan - 1x + c

C. 
1
x
etan - 1x + c

D. None of these

Answer: A

( )

https://dl.doubtnut.com/l/_9w3gGtMabA3O
https://dl.doubtnut.com/l/_mLkQ0P937n7R


Watch Video Solution

140. ∫
ecot - 1x

1 + x2 x2 - x + 1 dx______ + c

A. -ecot - 1x

B. x. ecot - 1x

C. 
ecot - 1x

1 + x2

D. ecot - 1x

Answer: B

Watch Video Solution

( )

141. The value of ∫e2x 1
x -

1

2x2 dx is

A. 
e2x

2 + c

B. 
e2x

2x
+ c

( )

https://dl.doubtnut.com/l/_mLkQ0P937n7R
https://dl.doubtnut.com/l/_DQ1U6BEo81Yh
https://dl.doubtnut.com/l/_3uxbnw4CkefR


C. 
e2x

3x
+ c

D. 
e2x

x
+ c

Answer: B

Watch Video Solution

142. ∫ 1 + x - x - 1 ex+ x - 1
dx =

A. (x + 1)ex+ x - 1
+ c

B. (x - 1)ex+ x - 1
+ c

C. -xex+ x - 1
+ c

D. xex+ x - 1
+ c

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_3uxbnw4CkefR
https://dl.doubtnut.com/l/_tbNYS8jdeB0s


143. If ∫
2x + 3

x2 - 5x + 6
dx 


= 9log(x - 3) - 7log(x - 2) + A,  then A =

A. 5log(x - 2)+constant

B. -4log(x - 3) + constant

C. Constant

D. None of these

Answer: C

Watch Video Solution

144. ∫
1

x - 3
-

1

x2 - 3x
dx = ________ + c, x > 3

A. 
1
3 log[x(x - 3)]

B. 
1
3 log √x(x - 3)

C. 
2
3 log[x(x - 3)]

( )

[ ]

https://dl.doubtnut.com/l/_ddSOfbZsskmb
https://dl.doubtnut.com/l/_x3qZcOxXy6RZ


D. 
2
3

log √x(x - 3)

Answer: D

Watch Video Solution

[ ]

145. If ∫
1

x2 + 4 x2 + 9
dx = A tan - 1 x

2
+ Btan - 1 x

3
+ C, then A-B=

A. 
1
6

B. 
1
30

C. -
1
30

D. -
1
6

Answer: A

Watch Video Solution

( )( ) ( )

https://dl.doubtnut.com/l/_x3qZcOxXy6RZ
https://dl.doubtnut.com/l/_WEa02UM4ZN1i


146. समाकलन करें ∫
xdx

x2 - a2 x2 - b2
dx.

A. 
1

a2 - b2 log
x2 - a2

x2 - b2 + c

B. 
1

a2 - b2 log
x2 - b2

x2 - a2 + c

C. 
1

2 a2 - b2
log

x2 - a2

x2 - b2 + c

D. 
1

2 a2 - b2
log

x2 - b2

x2 - a2 + c

Answer: C

Watch Video Solution

( ) ( )

( )
( )

( ) ( )

( ) ( )

147. If : ∫
2x2 + 3

x2 - 1 x2 - 4
dx = log

x - 2
x +

a
.

x + 1
x - 1

b
+ c then : (a, b) ≡

A. 
1
2 ,

3
4

( )( ) [( ) ( ) ]

https://dl.doubtnut.com/l/_2UcevirrLQZi
https://dl.doubtnut.com/l/_EnYUkK8lj7US


B. -1,
3
2

C. 1,
3
2

D. -
1
2

,
3
4

Answer: A

Watch Video Solution

148. If : ∫
2x2 + 3

x2 - 1 x2 - 4
dx = log

x - 2
x +

a
.

x + 1
x - 1

b
+ c then : (a, b) ≡

A. 
11
12

,
5
6

B. 
11
12

,
-5
6

C. -
11
12

,
5
6

D. None of these

Answer: A

Watch Video Solution

( )( ) [( ) ( ) ]

https://dl.doubtnut.com/l/_EnYUkK8lj7US
https://dl.doubtnut.com/l/_zLYn3Bmcb7Ix


149. ∫
5x2 + 3

x2 x2 - 2
dx =

A. 
13

4√2
log

x + √2

x - √2
+

3
2x

+ c

B. 
13

2√2
log

√2 - x

√2 + x
+

3
2x

+ c

C. 
5

3√2
log

x + √2

x - √2
+

3
5
x + c

D. 
13

4√2
log

x - √2

x + √2
+

3
2x

+ c

Answer: D

Watch Video Solution

( )

| |
| |
| |
| |

150. ∫
1

x6 + x4 dx is equal to

A. 
1

3x3 -
1
x + tan - 1x + c

B. 
1

3x3 +
1
x - tan - 1x + c

https://dl.doubtnut.com/l/_zLYn3Bmcb7Ix
https://dl.doubtnut.com/l/_gFTZyrW8AJX1
https://dl.doubtnut.com/l/_BFFaolbG4CFw


C. -
1

3x3 -
1
x

+ tan - 1x + c

D. -
1

3x3 +
1
x

+ tan - 1x + c

Answer: D

Watch Video Solution

151. ∫
dx

e2x - 3ex
=

A. 
1

3ex
-
x
9 +

1
9 log ex + 3 + c

B. 
1

3ex
+

1
9 log ex - 3 -

x
9 + c

C. -
1

3ex
-
x
9 + c

D. -
1

3ex
-

1
9 log ex + 3 + c

Answer: B

Watch Video Solution

( )
( )

( )

https://dl.doubtnut.com/l/_BFFaolbG4CFw
https://dl.doubtnut.com/l/_qJVAMZ6VNwRa


152. If ∫
x

x2 + 1 (x - 1)
dx 


= Alog x2 + 1 + Btan - 1x + Clog|x - 1| + D, 


then A+B+C =

A. 
1
4

B. 
1
2

C. 
3
4

D. 
5
4

Answer: C

Watch Video Solution

( )
| |

153. ∫
2x + 3

(x - 1) x2 + 1
dx = loge (x - 1)

5

2 x2 + 1 a -
1
2

tan - 1x + C, x > 1

where C is any arbitrary constant, then the value of 'a′  is

A. 
5
4

( ) { ( )

https://dl.doubtnut.com/l/_z0Cvodlv6P7e
https://dl.doubtnut.com/l/_hqyDigW8Z53R


B. -
5
3

C. -
5
6

D. -
5
4

Answer: D

Watch Video Solution

154. ∫
dx

x x4 + 1
=

A. 
1
4

log
x4 + 1

x4 + c

B. 
1
4

log
x4

x4 + 1
+ c

C. 
1
4 log x4 + 1 + c

D. 
1
4

log
x4

x4 + 2
+ c

Answer: B

( )

( )
( )
( )

( )

https://dl.doubtnut.com/l/_hqyDigW8Z53R
https://dl.doubtnut.com/l/_59wVLFV4PXXy


Watch Video Solution

155. ∫
dx

x3 + 3x2 + 2x
=

A. log|x| + log
x + 2
x + 1

+ c

B. log|x| - log|x + 1| + log|x + 2| + c

C. 
1
2

[log|x| + log|x + 1| + log|x + 2|] + c

D. 
1
2

log
x2 + 2x

(x + 1)2 + c

Answer: D

Watch Video Solution

| |

[ | | ]

156. ∫
dx

sinx + sin2x  का मान ज्ञात कीजिए ।

A. 
1
6 log(1 - cosx) +

1
2 log(1 + cosx) -

2
3 log(1 + 2cosx) + c

B. 6log(1 - cosx) + 2log(1 + cosx) -
2
3 log(1 + 2cosx) + c

https://dl.doubtnut.com/l/_59wVLFV4PXXy
https://dl.doubtnut.com/l/_VK8jQ77rHASL
https://dl.doubtnut.com/l/_yAfO7PnvFOEp


C. 6log(1 - cosx) +
1
2

log(1 + cosx) +
2
3

log(1 + 2cosx) + c

D. None of these

Answer: A

Watch Video Solution

157. If ∫
f(x)

logcosx
dx = - log(logcosx) + c, then f(x) is equal to

A. tanx

B. - sinx

C. -cosx

D. - tanx

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yAfO7PnvFOEp
https://dl.doubtnut.com/l/_bd2TMrNlRW8Q


158. If ∫
f(x)

log(sinx)
dx = log[logsinx] + c, then f(x) is equal to

A. cot x

B. tan x

C. sec x

D. cosec x

Answer: A

Watch Video Solution

159. If ∫ f(x)cosxdx =
1
2

[f(x)]2 + c, then f
π
2

 is

A. c

B. 
π
2

+ c

C. c + 1

D. 2π + c

( )

https://dl.doubtnut.com/l/_XZiSzoLNOC7j
https://dl.doubtnut.com/l/_R65YmJ6T6XcK


Answer: C

Watch Video Solution

160. If ∫ f(x) ⋅ cosxdx =
1
2

{f(x)}2 + c, then f(0) =  (A) 1 (B) 0 (C) -1 (D) none

of these

A. 1

B. -1

C. 0

D. 2

Answer: A

Watch Video Solution

161. If f′ (x) = 2 -
5

x4 and f(1) =
14
3 , then f( - 1) =

https://dl.doubtnut.com/l/_R65YmJ6T6XcK
https://dl.doubtnut.com/l/_Sx2NvK6hva0x
https://dl.doubtnut.com/l/_DvRn1uheI5us


A. 0

B. 
11
3

C. 
-14
3

D. 
-8
3

Answer: D

Watch Video Solution

162. If ∫ f(x)sinxcosxdx =
1

2 b2 - a2
log{f(x)} + C then f(x) is equal to

A. 
2

b2 - a2 sin2x

B. 
2

absin2x

C. 
2

b2 - a2 cos2x

D. 
2

abcos2x

Answer: C

( )

( )

( )

https://dl.doubtnut.com/l/_DvRn1uheI5us
https://dl.doubtnut.com/l/_K6yB6mhQgFof


Watch Video Solution

163. If 
d
dx

[f(x)] = xcosx + sinx and f(0) = 2, 


then f(x)=

A. xsinx

B. xcosx + sinx + 2

C. xsinx + 2

D. xcosx + 2

Answer: C

Watch Video Solution

164. If ∫ log x2 + x dx = xlog x2 + x + A, then A=

A. 2x + log|x + 1| + constant

B. 2x - log|x + 1| + constant

( ) ( )

https://dl.doubtnut.com/l/_K6yB6mhQgFof
https://dl.doubtnut.com/l/_dPu6O0XmPjOg
https://dl.doubtnut.com/l/_Ur2dP1UEgMj0


EVALUATION TEST

C. constant

D. none of these

Answer: D

Watch Video Solution

165. If I1 = ∫sin - 1xdx and I2sin - 1√-x2dx,  then

A. I1 = I2

B. I2 =
π
2
I2

C. I1 + I2 =
π
2
x

D. I1 - I2 =
π
2
x

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Ur2dP1UEgMj0
https://dl.doubtnut.com/l/_1lj0ZkeymhG8


1. ∫
√5 + x10

x16 dx is equal to

A. -
1
75

1 +
5

x10 + c

B. -
1
50

1 +
5

x10

3

2 + c

C. -
1
50

1 +
5

x10

1

2 + c

D. -
1
75

1 +
5

x10

3

2 + c

Answer: D

Watch Video Solution

( )
( )
( )
( )

2. Evaluate:
∫
cos5x + cos4x

1 - 2cos3x
dx

A. -
sin2x

2
+ sinx + c[ ]

https://dl.doubtnut.com/l/_qe31qYj4dlTX
https://dl.doubtnut.com/l/_JGyLfBx3T9WN


B. 
cos2x

2
+ cosx + c

C. 
sin2x

2
+ cosx + c

D. None of these

Answer: A

Watch Video Solution

3. ∫sin - 1 x
a + x

dx

A. a
x
a

tan - 1 x
a

-
x
a

+ tan - 1 x
a

+ c

B. a tan - 1 x
a

-
x
a

+ tan - 1 x
a

+ c

C. a
x
a

tan - 1 x
a

-
x
a

+ tan - 1 x
a

+ c

D. None of these

Answer: C

Watch Video Solution

√

[√ √ √ √ )
[ √ √ √ )
[ √ √ √ )

https://dl.doubtnut.com/l/_JGyLfBx3T9WN
https://dl.doubtnut.com/l/_yQzG3sxBeyWp


Watch Video Solution

4. ∫√cosecx - 1dx =

A. log
1
2

sinx +
1
2√sin2x + sinx + c

B. log sinx +
1
2√sin2x + sinx + c

C. 
1
2

log sinx + √sin2x + sinx + c

D. log sinx +
1
2

+ √sin2x + sinx + c

Answer: D

Watch Video Solution

| |
| |

| |
| |

5. Evaluate: ∫√tanxdx

A. 
1

2√2
tan - 1 x2 - 1

√2x
+

1

2√2
log

x2 - √2 + 1

x2 + √2x + 1
+ c

B. 
1

2√2
tan - 1 x2 - 1

√2x
+

1

√2
log

x2 - √2 + 1

x2 + √2x + 1
+ c

( ) | |
( ) | |

https://dl.doubtnut.com/l/_yQzG3sxBeyWp
https://dl.doubtnut.com/l/_b3byFfvvdqa6
https://dl.doubtnut.com/l/_iLfa0H5k8Ayu


C. 
1

√2
tan - 1 x2 - 1

√2x
+

1

√2
log

x2 - √2 + 1

x2 + √2x + 1
+ c

D. 
1

√2
tan - 1 tanx - 1

√2tanx
+

1

2√2
log

tanx - √2tanx + 1

tanx + √2tanx + 1
+ c

Answer: D

Watch Video Solution

( ) | |
( ) | |

6. ∫x13 / 2 1 + x5 / 2 1 / 2dx =

A. 
2
5

2
7

1 + x5 / 2 7 / 2 +
4
5

1 + x5 / 2 5 / 2 +
2
3

1 + x5 / 2 3 / 2 + c

B. 
2
5

2
7

1 + x5 / 2 7 / 2 -
4
5

1 + x5 / 2 5 / 2 -
2
3

1 + x5 / 2 3 / 2 + c

C. 
2
5

2
7

1 + x5 / 2 7 / 2 +
4
5

1 + x5 / 2 5 / 2 -
2
3

1 + x5 / 2 3 / 2 + c

D. 
2
5

2
7

1 + x5 / 2 7 / 2 -
4
5

1 + x5 / 2 5 / 2 +
2
3

1 + x5 / 2 3 / 2 + c

Answer: D

Watch Video Solution

( )

[ ( ) ( ) ( ) ]
[ ( ) ( ) ( ) ]
[ ( ) ( ) ( ) ]
[ ( ) ( ) ( ) ]

https://dl.doubtnut.com/l/_iLfa0H5k8Ayu
https://dl.doubtnut.com/l/_btbfSfkQhiik


7. If ∫
tanx

1 + tanx + tan2x
dx 


= x -
2

√A
tan - 1 2tanx + 1

√A
+ c, then A=

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

( )

8. If ∫
1

x2 - 1
log

x - 1
x + 1 dx = A log

x - 1
x + 1

2
+ c, 


then A =

A. 
1
2

( ) ( ) [ ( )]

https://dl.doubtnut.com/l/_PQRdE62fQEsC
https://dl.doubtnut.com/l/_L7zadk2PrjFC


B. 
1
3

C. 
1
4

D. 
1
6

Answer: C

Watch Video Solution

9. ∫
1

x2 + 2x + 2 2
dx =

A. 
tan - 2√x + 1

2
+

x + 1

x2 + 2x + 2
+ c

B. 
1
2 sec - 1 √x + 1 +

x + 1

x2 + 2x + 2
+ c

C. 
1
2 tan - 1(x + 1) +

x + 1

x2 + 2x + 1
+ c

D. 
sec - 1 √x + 1

2
+

x + 1

x2 + 2x + 2
+ c

Answer: C

( )

[ ( ) ]
[ ]

( )

https://dl.doubtnut.com/l/_L7zadk2PrjFC
https://dl.doubtnut.com/l/_O9OMbvYS7U7i


Watch Video Solution

10. Evaluate:
∫
1

cos6x + sin6x
dx

A. tan - 1(tanx - secx) + c

B. tan - 1(secx - tanx) + c

C. sec - 1(tanx - cotx) + c

D. tan - 1(tanx - cotx) + c

Answer: D

Watch Video Solution

11. If ∫ f(x)sinxcosxdx =
1

2 b2 - a2
log{f(x)} + C then f(x) is equal to

A. 
1

a2sin2x + b2cos2x

B. 
1

a2sin2x - b2cos2x

( )

https://dl.doubtnut.com/l/_O9OMbvYS7U7i
https://dl.doubtnut.com/l/_r6Jrc6EBQnPE
https://dl.doubtnut.com/l/_VlwKl0cEgOU5


C. 
1

a2cos2x - b2sin2x

D. 
1

a2cos2x + b2sin2x

Answer: A

Watch Video Solution

12. ∫esinθ log(sinθ) + cosec2θ cosθdθ =

A. esinθ log(sinθ) + cosec2θ + c

B. esinθ[log(sinθ) + cosecθ] + c

C. esinθ[log(sinθ) - cosecθ] + c

D. esinθ log(sinθ) - cosec2θ + c

Answer: C

Watch Video Solution

[ ]

[ ]

[ ]

https://dl.doubtnut.com/l/_VlwKl0cEgOU5
https://dl.doubtnut.com/l/_STAie8Ox4gwE


13. ∫cos2θlog
cosθ + sinθ
cosθ - sinθ

dθ is equal to

A. (cosθ - sinθ)2log
cosθ + sinθ
cosθ - sinθ

+ c

B. (cosθ + sinθ)2log
cosθ + sinθ
cosθ - sinθ

+ c

C. 
(cosθ - sinθ)2

2
log

cosθ - sinθ
cosθ + sinθ

+ c

D. 
1
2

sin2θlogtan
π
4

+ θ -
1
2

log(sec2θ) + c

Answer: D

Watch Video Solution

( )
( )
( )
( )

( )

14. If f
3x - 4
3x + 4

= x + 2, then ∫  f(x)dx is equal to

A. 
8
3

log|x - 1| +
x
3

+ c

B. -
8
3

log|x - 1| +
2
3
x + c

C. 
8
3

log|x - 1| +
2
3
x + c

( )

https://dl.doubtnut.com/l/_yTbWOApbLo0K
https://dl.doubtnut.com/l/_yit4RMgwcXpp


D. 
8
3

log|x - 1| -
x
3

+ c

Answer: B

Watch Video Solution

15. ∫ log 1 - √x dx =

A. xlog 1 - √x -
1
2
x -

3
2√x + c

B. (x - 1)log 1 - √x -
1
2
x - √x + c

C. x2log 1 - √x -
1
2√x + c

D. None of these

Answer: B

Watch Video Solution

( )

( )

( )

( )

https://dl.doubtnut.com/l/_yit4RMgwcXpp
https://dl.doubtnut.com/l/_omztmSXY6wyz


16. If

P(x) = ∫
x3

x3 - x2dx, Q(x) = ∫
1

x3 - x2dx and (P + Q)(2) =
5
2

, then P(3) + Q(3) =

A. 
5
2

B. 
5
4

+ log
4
3

C. 
10
3

+ log
4
3

D. 
10
3

+ log
8
3

Answer: D

Watch Video Solution

( )
( )
( )

17. ∫
2asinx + bsin2x

(b + acosx)3 dx =

A. 
1

a2 ⋅

a2 - b2

t2
+

2b

a2t
+ c

B. 
2

a2 ⋅

a2 - b2

t2
+

2b

a2t
+ c

( )

( )

https://dl.doubtnut.com/l/_ibSTxmn6L4Ms
https://dl.doubtnut.com/l/_8lX50meQvrH7


C. 
2

a2 ⋅

a2 - b2

t2
+

b

a2t
+ c

D. 
2

a2 ⋅

a2 - b2

t3
+

2b

a2t
+ c

Answer: A

Watch Video Solution

( )

( )

18. ∫
1

(x - 1)√x2 - 4
dx =

A. -
1

√5
log

1
x - 1

+
1
5

+
x2 + 4

(x - 1)2 + c

B. -
1

√5
log

1
x - 1

+
1
5

+
x2 + 4

5(x - 1)2 + c

C. -
1

√5
log

1
x - 1

+
1
5

x2 + 4

(x - 1)2 + c

D. None of these

Answer: B

| √ |
| √ |
| √ |

https://dl.doubtnut.com/l/_8lX50meQvrH7
https://dl.doubtnut.com/l/_CZjWe1AwQT9o


Watch Video Solution

19. ∫
1 + xcosx

x 1 - xesinx 2

dx =

A. 
1
2

log
x2e2sinx

1 - x2e2sinx + c

B. log
x2e2sinx

1 - x2e2sinx + c

C. 
1
2

log
xesinx

1 - x2esinx + c

D. 
1
2

log
xesinx

1 - xesinx + c

Answer: A

Watch Video Solution

{ ( ) }

| |
| |

| |
| |

20. ∫ tan sin - 1x dx =( )

https://dl.doubtnut.com/l/_CZjWe1AwQT9o
https://dl.doubtnut.com/l/_FJxk3txoxfcA
https://dl.doubtnut.com/l/_fA05nWdjPmr5


A. 
1

√1 - x2
+ c

B. √1 - x2 + c

C. 
x

√1 - x2
+ c

D. -√1 - x2 + c

Answer: D

Watch Video Solution

21. ∫sec25 / 13xcosec27 / 13xdx =

A. -
15
13 (tanx) - 15 / 13 +

3
12(tanx)3 / 2 + c

B. -
13
14 (tanx) - 14 / 13 +

13
12(tanx)12 / 13 + c

C. -
14
13 (tanx) - 13 / 14 +

2
3(tanx)3 / 2 + c

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fA05nWdjPmr5
https://dl.doubtnut.com/l/_CEYuzZg7B0S6


Watch Video Solution

22. 

∫
1

x + √x2 - x + 1
dx = Plog x + √x2 - x + 1 + Qlog 2x - 1 + 2√x2 - x + 1 + R

Then the values of P, Q, R are

A. 2,
3
2 ,

1
2

B. 2, -
3
2 ,

1
2

C. 2, -
3
2 , -

1
2

D. None of these

Answer: C

View Text Solution

( ) ( ) (

23. If ∫
1

1 + x2 √1 - x2
dx = F(x) + c and F(1) = 0, 


then for x > 0, F(x) =

( )

https://dl.doubtnut.com/l/_CEYuzZg7B0S6
https://dl.doubtnut.com/l/_mtBNF6JEGhpF
https://dl.doubtnut.com/l/_GCqeUx9Csfpf


A. 
1

√2
tan - 1

√2x

√1 + x2
+
π
2

B. 
1

√2
tan - 1

√2x

√1 + x2
-

π

2√2

C. 
1

√2
tan - 1

√2x

√1 - x2
+

π

2√2

D. 
1

√2
tan - 1

√2x

√1 - x2
-

π

2√2

Answer: D

Watch Video Solution

( )
( )
( )
( )

24. ∫
x2 - 1

x3√2x4 - 2x2 + 1
dx is equal to

A. 2 2 -
2

x2 +
1

x4 + c

B. 2 2 +
2

x2 +
1

x4 + c

C. 
1
2

2 -
2

x2 +
1

x4 + c

√
√
√

https://dl.doubtnut.com/l/_GCqeUx9Csfpf
https://dl.doubtnut.com/l/_pqXOL5aerowN


D. None of these

Answer: C

Watch Video Solution

25. The value of ∫
logx

(x + 1)2dx is

A. 
- logx
x + 1 + log|x| - log|x + 1| + c

B. 
logx
x + 1 + log|x| - log|x + 1| + c

C. 
logx
x + 1 - log|x| - log|x + 1| + c

D. 
- logx
x + 1 - log|x| - log|x + 1| + c

Answer: A

Watch Video Solution

26. If In = ∫sinnx dx,  then nIn - (n - 1)In - 2 equals

https://dl.doubtnut.com/l/_pqXOL5aerowN
https://dl.doubtnut.com/l/_R9Us0afN0Mgr
https://dl.doubtnut.com/l/_00pYiPLWXbBI


A. sinn - 1xcosx

B. cosn - 1xsinx

C. - sinn - 1xcosx

D. -cosn - 1xsinx

Answer: C

Watch Video Solution

27. If u = - f′ ′ (θ)sinθ + f′ (θ)cosθ and v = f′ ′ (θ)cosθ + f′ (θ)sinθ,then

∫ d
u
dθ

2
+

dy
dθ

2
1
2
dθ is equal to

A. f(θ) - f′ ′ (θ) + c

B. f(θ) + f′ ′ (θ) + c

C. f′ (θ) + f′ ′ (θ) + c

D. f′ (θ) - f′ ′ (θ) + c

[( ) ( ) ]

https://dl.doubtnut.com/l/_00pYiPLWXbBI
https://dl.doubtnut.com/l/_DgDcmyfdd2Lc


Answer: B

Watch Video Solution

28. Evaluate: ∫
x - 1

(x + 1)√x3 + x2 + x
 dx

A. 2tan - 1 x +
1
x + 1 + c

B. 2tan - 1 1
x + 1 + x + c

C. 2tan - 1 1
x + 1 + 1 + c

D. None of these

Answer: A

Watch Video Solution

√
√
√

29. Evaluate ∫ √tanx + √cotx dx( )

https://dl.doubtnut.com/l/_DgDcmyfdd2Lc
https://dl.doubtnut.com/l/_FWCViD0yei95
https://dl.doubtnut.com/l/_k6wIHtxIS4on


A. sin - 1(sinx - cosx) + c

B. √2sin - 1(sinx - cosx) + c

C. cos - 1(sinx - cosx) + c

D. √2cos - 1(sinx - cosx) + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_k6wIHtxIS4on

